

# Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER

**Bids and Awards Committee** 

Quezon Avenue, Quezon City 1100 website: <a href="www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: pcmcbac@gmail.com Trunkline: 8588-9900 local 361/355 Telefax No.: 8924-0870

# Bidding Forms

# Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

IB-2021-018 to 2021-023

## **TABLE OF CONTENTS**

#### TECHNICAL COMPONENT

Ι.	Statement of On-going Government and Private Cont	racts including
	Contracts Awarded but not yet started	DOBA-PCMC-SCF3t
2.	Statement of Single Largest Completed Government	and Private
	Contracts	DOBA-PCMC-SCF3a
3.	Bid Securing Declaration	DOBA-PCMC-BDF5
4.	Omnibus Sworn Statement	
5.	Net Financial Contracting Capacity (NFCC)	DOBA-PCMC-NFF4
6.	Joint Venture Agreement Form	DOBA-PCMC-JV6

#### FINANCIAL COMPONENT

- 1. Bid Form
- 2. Certification for Assurance of Stocks Availability ......DOBA-PCMC-CAF10
- $3. \quad Return\ Policy \ \dots \ DOBA-PCMC-CRF34$

#### **OTHERS**

- 1. Contract Agreement Form
- 2. Performance Securing Declaration

### **INSTRUCTIONS:**

- 1. Use the Forms provided.
- 2. Completely fill-up the Forms by providing the required information. Write "Not Applicable" when necessary.
- 3. Attach supporting documents, as required in the Form/s.

Date

#### **Quezon Avenue, Quezon City**

## STATEMENT OF SINGLE LARGEST COMPLETED GOVERNMENT AND PRIVATE CONTRACTS

Name of Bidder:								
	a. Client Name	Nature of Work/ Kind			Period Covered/			
Name of Contract/Project	b. Address		Bidder's Role	Date Awarded	Duration of Contract	Contract Amount		
	c. Contact Nos.							
	a.							
	b.							
	C.							
	a.							
	b.							
	C.							
Instructions:	1. Completely fill-up the form.							
	2. Attach Notice of Award, Purchase Order/Contract and Clients' Acceptance	as supporting document	s					
Submitted by:								
Signature over Printed Name of Aut	gnature over Printed Name of Authorized Representative  DOBA-PCMC-SCF3a  150813 Rev 0							

Page 1 of 1

#### PHILIPPINE CHILDREN'S MEDICAL CENTER **Quezon Avenue, Quezon City**

#### STATEMENT OF **ON-GOING GOVERNMENT** AND **PRIVATE** CONTRACTS including **CONTRACTS AWARDED BUT NOT YET STARTED** (Adapted from GPPB Sample Forms)

Name of Bidder:		_					
	a. Client Name	a. Nature of Work/ Kind of Contract/ Kind of			Period		Value of
Name of Contract/Project	b. Address	Goods Sold	Bidder's Role	Date Awarded	Covered/ Duration of Contract	Contract Amount	Outstanding Contract
	c. Contact Nos.	b. Indicate if "Similar" or "Not Similar")					(refers to unfinished portion of contract)
	a.	a.					
	b.						
	C.	b.					
	a.	a.					
	b.						
	C.	b.					
	a.	a.					
	b.						
	C.	b.					
	a.	a.					
	b.						
	C.	b.					
	a.	<u> —</u> а.					
	b.						
	C.	b.					
	a.	<u> —</u> а.					
	b.						
	C.	b.					
lmatuatia.na.	1. Comparison of the compariso						

Date

- **Instructions:** 1. Completely fill-up the form.
  - 2. Photocopy this form if additional sheet is necessary.

Submitted by:	
	DOBA-PCMC-SCF3b
Signature over Printed Name of Authorized Representative	150813 Rev 0

Name of Procuring Entity: PHILIPPINE CHILDREN'S MEDICAL CENTER Quezon Avenue, Quezon City	२
Name of Project:	
Name of Bidder:	
NET FINANCIAL CONTRACTING CAPAC	CITY (NFCC) - Goods
CURRENT ASSETS	<u>P</u>
less: CURRENT LIABILITIES	
NET CURRENT ASSETS	<u>P</u>
multiply by (15)	Р
less: VALUE OF OUTSTANDING CONTRACTS INCLUDING YET TO BE STARTED	<u>P</u>
NFCC	<u>P</u>
O R	
Commitment from a licensed bank to extend to it a credit line if awarded t proposed project to bid	the contract in the amount of at least 10% of the
NAME OF BANK	
AMOUNT	<u>P</u>
SUBMITTED BY:	
Signature over Printed Name of Authorized Representative  Date	

Note: If Partnership or Joint Venture, each Partner or Member Firm of Joint Venture shall submit the above requirements.

## JOINT VENTURE AGREEMENT

#### KNOW ALL MEN BY THESE PRESENTS:

That this JOINT VENTURE	AGREEMENT is entere	ed into By and Between
	, of legal age,	, owner/
	, of legal age,	Civil Status]
proprietor of		and a resident of
	- and -	
	, of legal age,	, owner/
proprietor of	I	Civil Status] and a resident of
proprietor or		and a resident of
THAT both parties agree to joi facilitate the Joint Venture to participate stated project to be conducted by the PHI  NAME OF PROJECT	e in the Eligibility, Biddin ILIPPINE CHILDREN'S	
That both parties agree to be jo	ointly and severally liable	e for the entire assignment.
That both parties agree that	hne	or shall be the
Official representative of the Joint execute and perform any and all acbidding as fully and effectively and the power of substitution and revocation.	Venture, and is granted ts necessary and/or to r	I full power and authority to do, represent the Joint Venture in the
That this Joint Venture Agre Projects until terminated by both parti		effect only for the above-stated

## JOINT VENTURE AGREEMENT

	THE PHILIPPINES	) S.S. _)		
	ed to me any of his/her i	re me this, day dentification documents		20
	Driver's License Senior Citizen ID Passport No. Any other valid ID		_	
		Notary Public Until PTR No. Date Place TIN		
Doc. No Page No Book No	<u> </u>			

REPUBLIC OF THE PHILIPPINES	)
CITY OF	) S.S.

#### **BID SECURING DECLARATION**

Invitation to Bid	
Name of Project	

# To: BIDS AND AWARDS COMMITTEE PHILIPPINE CHILDREN'S MEDICAL CENTER Quezon Avenue, Quezon City

I/We, the undersigned, declare that:

- 1. I/We understand that, according to your conditions, bids must be supported by a Bid Security, which may be in the form of a Bid-Securing Declaration.
- 2. I/We accept that: (a) I/we will be automatically disqualified from bidding for any procurement contract with any procuring entity for a period of two (2) years upon receipt of your Blacklisting Order; and, (b) I/we will pay the applicable fine provided under Section 6 of the Guidelines on the Use of Bid Securing Declaration, within fifteen (15) days from receipt of the written demand by the procuring entity for the commission of acts resulting to the enforcement of the bid securing declaration under Sections 23.1(b), 34.2, 40.1 and 69.1, except 69.1(f), of the IRR of RA No. 9184; without prejudice to other legal action the government may undertake.
- 3. I/We understand that this Bid Securing Declaration shall cease to be valid on the following circumstances:
  - a. Upon expiration of the bid validity period, or any extension thereof pursuant to your request;
  - b. I am/we are declared ineligible or post-disqualified upon receipt of your notice to such effect, and (i) I/we failed to timely file a request for reconsideration or (ii) I/we filed a waiver to avail of said right; and
  - c. I am/we are declared the bidder with the Lowest Calculated Responsive Bid, and I/we have furnished the performance security and signed the Contract.

DOBA-PCMC-BDF5 150813 Rev 0

## **BID-SECURING DECLARATION**

Invitatio	on to Bid
Name of Project _	
IN WITNESS WHEREOF, I have hereur	nto set my hand this day of
20 at	, Philippines.
	Affiant [Bidder's Representative/Authorized Signatory]
	[Position]
	[Name of Bidder-Company]
, Philippines. Affi through competent evidence of identity as 02-8-13-SC). Affiant/s exhibited to me his	[ type of identification card used]  opearing thereon, with no and his/her Community
Witness my hand and seal this	
	NAME OF NOTARY PUBLIC  Serial No. of Commission  Notary Public for until  Roll of Attorneys No  PTR No,  [date issued], [place issued]  IBP No,  [date issued], [place issued]
Doc. No Page No Book No Series of	

DOBA-PCMC-BDF5 150813 Rev 0

## **OMNIBUS SWORN STATEMENT**

	AFFIDAVIT
	, of legal age,,,
d re	esiding at, afte [Address of Affiant]
ving	g been duly sworn in accordance with law, do hereby depose and state that:
1.	I am the duly authorized and designated representative of
	with office address at;  [Address of Bidder/Company];
2.	I am granted full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for
	[Name of Project]  of the [Name of the Procuring Entity]
	[Name of the Procuring Entity]
	as shown in the attached [state title of attached document showing proof of authorization (e.g duly notarized Secretary's Certificate, Board/Partnership Resolution, or Special Power of Attorney, whichever is applicable)];
3.	is not "blacklisted" or barred from bidding by th
	Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign governments/foreign or international financing institution whose blacklisting rule
	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;
4.	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of
<ul><li>4.</li><li>5.</li></ul>	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic cop-
	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct
	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct is authorizing the Head of the Procuring [Name of Bidder/Company]  Entity or its duly authorized representative(s) to verify all the documents submitted;
5.	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct is authorizing the Head of the Procuring [Name of Bidder/Company]  Entity or its duly authorized representative(s) to verify all the documents submitted;  None of the owner(s), officers, members, directors, and controlling stockholders of its related to the Head of the Procuring Entity, members of [Name of Bidder/Company]
5.	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct is authorizing the Head of the Procuring [Name of Bidder/Company]  Entity or its duly authorized representative(s) to verify all the documents submitted;
5.	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct is authorizing the Head of the Procuring Iname of Bidder/Company!  Entity or its duly authorized representative(s) to verify all the documents submitted;  None of the owner(s), officers, members, directors, and controlling stockholders of its related to the Head of the Procuring Entity, members of Iname of Bidder/Company!  the Bids and Awards Committee (BAC), the Technical Working Group and the BAC Secretariate the head of the Project Management Office or the end-user unit, and the project consultants be consanguinity or affinity up to the third civil degree;
<ul><li>5.</li><li>6.</li></ul>	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct is authorizing the Head of the Procuring [Name of Bidder/Company]  Entity or its duly authorized representative(s) to verify all the documents submitted;  None of the owner(s), officers, members, directors, and controlling stockholders of is related to the Head of the Procuring Entity, members of [Name of Bidder/Company]  the Bids and Awards Committee (BAC), the Technical Working Group and the BAC Secretariate the head of the Project Management Office or the end-user unit, and the project consultants be consanguinity or affinity up to the third civil degree;
<ul><li>5.</li><li>6.</li></ul>	have been recognized by the Government Procurement Policy Board, by itself or by relation membership, association, affiliation, or controlling interest with another blacklisted person of entity as defined and provided for in the Uniform Guidelines on Blacklisting;  Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct is authorizing the Head of the Procuring Iname of Bidder/Company!  Entity or its duly authorized representative(s) to verify all the documents submitted;  None of the owner(s), officers, members, directors, and controlling stockholders of its related to the Head of the Procuring Entity, members of Iname of Bidder/Company!  the Bids and Awards Committee (BAC), the Technical Working Group and the BAC Secretariate the head of the Project Management Office or the end-user unit, and the project consultants be consanguinity or affinity up to the third civil degree;

b) Acknowledge all conditions, local or otherwise, affecting the implementation of the Contract;  c) Making an estimate of the facilities available and needed for the contract to be bid, if any; and  d) Inquiring or securing Supplemental/Bid Bulletin(s) issued for the [Name of the Project].  9		a)	Carefully 6	examır	ning all of th	he Bidding Documer	nts;			
d) Inquiring or securing Supplemental/Bid Bulletin(s) issued for the [Name of the Project].  9		b)		dge all	conditions	, local or otherwise,	affecting the in	mplementa	ation o	f the
[Name of the Project].  9		c)	-		ate of the f	acilities available ar	d needed for the	ne contrac	t to be	bid,
9		d)	Inquiring	or	securing	Supplemental/Bid	Bulletin(s)	issued	for	the
any commission, amount, fee or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.  10. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.  IN WITNESS WHEREOF, I have hereunto set my hand this			[Na	me of	the Project	].				
any commission, amount, fee or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.  10. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.  IN WITNESS WHEREOF, I have hereunto set my hand this	9		(D) (D) I				did not give or	pay direc	tly or	indirectly,
or official, personnel or representative of the government in relation to any procurement project or activity.  10. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.  IN WITNESS WHEREOF, I have hereunto set my hand this										
and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.  IN WITNESS WHEREOF, I have hereunto set my hand this	Ol	offic	ial, personr							
SUBSCRIBED AND SWORN to before me this day of, 20 at, Philippines. Affiant/s is/are personally known to me and was/were identified by me through competent evidence of identity as defined in the 2004 Rules on Notarial Practice (A.M. No. 02-8-13-SC). Affiant/s exhibited to me his/her [insert type of government identification card used], with his/her photograph and signature appearing thereon with no and his/her Community Tax Certificate No. issued on at  Witness my hand and seal this day of, 20  NAME OF NOTARY PUBLIC Serial No. of Commission Notary Public for until Roll of Attorneys No PTR No Date Issued PIR No Blace Issued PIR No Date Issued Place Issued	Swind misap involv gover Revis	lling propr ing t nmen ed Pe	(Estafa) or iating or containing to the duty to to the Phinal Code.	the co onvert deliv lippino	ommission of ing any particular er certain es pursuant	of fraud with unfait syment received by goods or services, to Article 315 of A	hfulness or ab a person or e to the prejudi ct No. 3815 s.	entity undoce of the 1930, as	nfidenc er an publi amenc	ce through obligation c and the ded, or the
SUBSCRIBED AND SWORN to before me this day of, 20 at, Philippines. Affiant/s is/are personally known to me and was/were identified by me through competent evidence of identity as defined in the 2004 Rules on Notarial Practice (A.M. No. 02-8-13-SC). Affiant/s exhibited to me his/her [insert type of government identification card used], with his/her photograph and signature appearing thereon with no and his/her Community Tax Certificate No issued on at  Witness my hand and seal this day of, 20    NAME OF NOTARY PUBLIC   Serial No. of Commission Notary Public for until Roll of Attorneys No PTR No PTR No PHace Issued Place Issued	IN WITN	ESS V	WHEREOF,	, I ha	ve hereunto	set my hand this	day of			_, 20
SUBSCRIBED AND SWORN to before me this day of, 20 at, Philippines. Affiant/s is/are personally known to me and was/were identified by me through competent evidence of identity as defined in the 2004 Rules on Notarial Practice (A.M. No. 02-8-13-SC). Affiant/s exhibited to me his/her [insert type of government identification card used], with his/her photograph and signature appearing thereon with no and his/her Community Tax Certificate No issued on at  Witness my hand and seal this day of, 20  NAME OF NOTARY PUBLIC Serial No. of Commission Notary Public for until Roll of Attorneys No PTR No Date Issued Place Issued IBP No Date Issued Place Issued	at					, Phili	ppines.			
SUBSCRIBED AND SWORN to before me this day of, 20 at, Philippines. Affiant/s is/are personally known to me and was/were identified by me through competent evidence of identity as defined in the 2004 Rules on Notarial Practice (A.M. No. 02-8-13-SC). Affiant/s exhibited to me his/her [insert type of government identification card used], with his/her photograph and signature appearing thereon with no and his/her Community Tax Certificate No issued on at  Witness my hand and seal this day of, 20  NAME OF NOTARY PUBLIC Serial No. of Commission Notary Public for until Roll of Attorneys No PTR No Date Issued Place Issued IBP No Date Issued Place Issued										
						[Bidder	's Representative	?/Authorize	d Signa	itory]
identified by me through competent evidence of identity as defined in the 2004 Rules on Notarial Practice (A.M. No. 02-8-13-SC). Affiant/s exhibited to me his/her [insert type of government identification card used], with his/her photograph and signature appearing thereon with no and his/her Community Tax Certificate No issued on at  Witness my hand and seal this day of, 20  NAME OF NOTARY PUBLIC  Serial No. of Commission Notary Public for until Roll of Attorneys No PTR No Place Issued									. 2	Ω at
NAME OF NOTARY PUBLIC  Serial No. of Commission  Notary Public for until  Roll of Attorneys No  PTR No  Pate Issued  Place Issued  IBP No  Date Issued  Page No  Book No  Book No	SUBSCRI	BED	AND SWO	)RN :	to before r	ne this day	of	- <u>-</u>		· ai
Serial No. of Commission   Notary Public for until   Roll of Attorneys No   PTR No   PTR No   Place Issued   Place Issued   IBP No   Date Issued   Place Issued	identified l 02-8-13-So photograph	by me C). Af	through com fiant/s exhib signature app	petent ited to earing	evidence of me his/her thereon wi	Philippines. Affiant/s identity as defined in t [insert type of govern th no	is/are personally he 2004 Rules of nment identifica _ and his/her Co	known to Notarial I tion card u	me an Practice (sed], v	d was/were e (A.M. No. with his/her
	identified l 02-8-13-S0 photograph	by me C). Af and and issue	through com fiant/s exhib signature app d on	petent ited to earing	evidence of me his/her thereon wi	Philippines. Affiant/s identity as defined in t [insert type of gover th noatat	is/are personally he 2004 Rules on nment identifica _ and his/her Co 	known to Notarial I tion card u	me an Practice (sed], v	d was/were e (A.M. No. with his/her
Series of	identified I 02-8-13-S0 photograph  Witness m  Doc. No Page No	by me C). Af	through com fiant/s exhib signature app d on	petent ited to earing	evidence of me his/her thereon wi	Philippines. Affiant/s identity as defined in t [insert type of govern th no	is/are personally he 2004 Rules on ment identifica and his/her Co  ME OF NOTA al No. of Comm ary Public for l of Attorneys N R No e Issued ce Issued No. e Issued te Issued e Issued te Issued	RY PUBLI ission un o	me an Practice ased], value ased], value ased], value ased], value ased], value ased as Cer	d was/were e (A.M. No. with his/her tificate No.

#### **Bid Form**

	Invitation t	Date:	
To: PHILIPPINE CHILDR	EN'S MEDICAL C	ENTER	
Gentlemen and/or Ladies:			
_		PBDs) including Supplementa nereby duly acknowledged, we	
offer to	arform I I description of t	in conformity	with the said
[suppry/denver/pe	erjormj [aescripiion oj i	ne Goodsj	
PBDs for the sum of			or the
modifications in accordance	evaluated and corwith the Price Sche	Bid amount in words and figures] rected for computational error edules attached herewith and a ses, such as, but not limited to_	made part of this
[specify the applicable taxes, e.g. (i) value as which are itemized herein or i		x, (iii) local taxes, and (iv) other fiscal levies o	and duties],
If our Bid is accepted, w	e undertake :		
9		h delivery schedule specified in g Documents (PBDs);	n the Schedule of
b. to provide a peri specified in the PB		in the form, amounts, and	within the times
	Validity Period spece e before the expirati	cified in the PBDs and it shal on of that period.	l remain binding
If Foreign-Assisted Pr Commissions or gratuiti to contract execution if we are	es, if any, paid or to	be paid by us to agents relating	ng to this Bid, and
Name and address of agent	Amount and Currency	Purpose of Commission or gratuity	
(if none, state "None")	)		

Until a formal Contract is prepared and executed, this Bid, together with your written acceptance thereof and your Notice of Award, shall be binding upon us.

We understand that you are not bound to accept the Lowest Calculated Bid or any Bid you may receive.

We certify/confirm that we comply with the eligibility requirements pursuant to the PBD	)s
The undersigned is authorized to submit the bid on behalf of	
as evidenced by attached .  [name of the bidder]	
We acknowledge that failure to sign each and every page of this Bid Form, including the attached Schedule of Prices, shall be a ground for the rejection of our bid.	:
Name:	
Legal capacity:	
Signature:	
Duly authorized to sign the Bid for and behalf of:	
Date:	

Date: \_\_\_\_\_

The Chairman
Bids and Awards Committee
PHILIPPINE CHILDREN'S MEDICAL CENTER
Quezon Avenue, Quezon City

# CERTIFICATE (Assurance of Stocks Availability)

This is to certify that			
		[Name of Company]	
ensures availability of stocks			
and the section of th	Į.	Category/Specific Item]	
being bided under Invitation to Bid	No		<u> </u>
		Signature Over Printed	Name (Authorized Signatory)
		Name of Bidder-Compan	у
DEDURAGE OF THE DAIL IDDAILS.			
REPUBLIC OF THE PHILIPPINES) CITY/MUNICIPALITY OF		) S.S.	
	ACKNOWLE		
SUBSCRIBED AND SWORN TO before to me (any of) his/her identification do	e me this ocuments (I.D	day of	affiant exhibited
Company ID Driver's License Senior Citizen ID Passport No. Any other valid ID			
		Until _	
Doc. No Page No Book No Series of			

To: The Chairperson
Bids and Awards Committee
PHILIPPINE CHILDREN'S MEDICAL CENTER
Quezon Avenue, Quezon City

### CERTIFICATE OF RETURN POLICY

	This is to certify that	Mame of Ridde	Commanul	
	ccept the return policy cond			peing bided under
Invitati	on to Bid No:			
1.	At least three (3) months pr	rior to expiratio	n is replaceabl	е;
	Defective products within replaceable.	the period of at	least six (6) mo	onths from delivery is
			Signature Over Printer	I Name (Authorized Signatory)
			Name of Bidder-Compa	ny
	C OF THE PHILIPPINES) INICIPALITY OF			
or incor	RIBED AND SWORN TO before r	ACKNOWLED		afficient ashibited to me
(any of)	his/her identification documents	s (I.D.'s)	01	amant exhibited to me
	Company ID Driver's License Senior Citizen ID Passport No. Any other valid ID			
			Notary Public Until PTR No. Date Place TIN	
Page No Book No				

## CONTRACT AGREEMENT

THIS AGREEMENT made the _CHILDREN'S MEDICAL CENT			
one part and			
of	name of Supplier]		
	[city and country of S	[upplier]	
(hereinafter called "the Supplier")	of the other pa	rt;	
WHEREAS, the Entity invited Bid description of goods and services] a goods and services in the sum of (hereinafter called "the Contract Prices.")	and has accepted a [contract price in	Bid by the Supp	olier for the supply of those
NOW THIS AGREEMENT WITH	NESSETH AS F	OLLOWS:	
1. In this Agreement words and assigned to them in the Conditions of			eanings as are respectively
2. The following documents Regulations of Republic Act No. 9 integral part of this Agreement, viz.	184 shall be dee:		-
i. Philippine Bidding Docu Specifications; iii. General a Bid Bulletins, if any			
ii. Winning bidder's bid, inc Proposals, and all other docu		* *	s, Technical and Financial
Bid form, including all the envelopes, as annexes, and request for clarifications on from the Procuring Entity's	all other docum the bid), includi	ents submitted (	(e.g., Bidder's response to
iii. Performance Security;			
iv. Notice of Award of Contr	ract; and the Bidd	er's conforme the	ereto; and
v. Other contract documents Entity concerned in the PBE or information prescribed be after the contract execution Warranty Security, shall like	Os. Winning bidde by the GPPB that n, such as the I	er agrees that add are subsequently Notice to Proceed	litional contract documents y required for submission
2. In consideration for the sum	of		
			words and figures]
or such other sums as may be	e ascertained,	[Named of the l	bidderl
agrees to			
	[state the object of	the contract]	
in accordance with his/her/it	s Bid.		

#### **CONTRACT AGREEMENT**

4. The Philippine Children's Medical Center (PCMC) agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written. (Insert Name and Signature) (Insert Name and Signature) (Legal Capacity) (Legal Capacity) for: for: (Philippine Children's Medical Center) (Name of Supplier) **ACKNOWLDEGMENT** SUBSCRIBED AND SWORN TO before me this \_\_\_\_\_ day of \_\_\_\_\_ affiant exhibited to me (any of) his/her identification documents (I.D.'s) Company ID Driver's License Senior Citizen ID Passport No. Any other valid ID Notary Public \_ Until PTR No. Date Place TIN

Doc. No. \_\_\_\_\_ Page No. \_\_\_\_ Book No. \_\_\_\_ Series of \_\_\_\_

### **Performance Securing Declaration**

[if used as an alternative performance security but it is not required to be submitted with the Bid, as it shall be submitted within ten (10) days after receiving the Notice of Award]

REPUBLIC OF THE PHILIPPINES	)
CITY OF	) S.S

#### PERFORMANCE SECURING DECLARATION

Invitation to Bid: [Insert Reference Number indicated in the Bidding Documents] To: [Insert name and address of the Procuring Entity]

I/We, the undersigned, declare that:

- 1. I/We understand that, according to your conditions, to guarantee the faithful performance by the supplier/distributor/manufacturer/contractor/consultant of its obligations under the Contract, I/we shall submit a Performance Securing Declaration within a maximum period of ten (10) calendar days from the receipt of the Notice of Award prior to the signing of the Contract.
- 2. I/We accept that: I/we will be automatically disqualified from bidding for any procurement contract with any procuring entity for a period of one (1) year for the first offense, or two (2) years **for the second offense**, upon receipt of your Blacklisting Order if I/We have violated my/our obligations under the Contract;
- 3. I/We understand that this Performance Securing Declaration shall cease to be valid upon:
  - a. issuance by the Procuring Entity of the Certificate of Final Acceptance, subject to the following conditions:
    - i. Procuring Entity has no claims filed against the contract awardee;
    - ii. It has no claims for labor and materials filed against the contractor; and
    - iii. Other terms of the contract; or
  - b. replacement by the winning bidder of the submitted PSD with a performance security in any of the prescribed forms under Section 39.2 of the 2016 revised IRR of RA No. 9184 as required by the end-user.

**IN WITNESS WHEREOF,** I/We have hereunto set my/our hand/s this \_\_\_\_\_ day of [month] [year] at [place of execution].

[Insert NAME OF BIDDER OR ITS AUTHORIZED REPRESENTATIVE]
[Insert signatory's legal capacity]
Affiant

#### [Jurat]

[Format shall be based on the latest Rules on Notarial Practice]



# Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER

Quezon Avenue, Quezon City 1100
website: <a href="mailto:www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: <a href="mailto:officeofthedirector@pcmc.gov.ph">officeofthedirector@pcmc.gov.ph</a>
Trunkline: 588-9900 DirectLine: 924-0836 Fax No: 924-0840

#### **INVITATION TO BID**

#### SUPPLY AND DELIVERY OF VARIOUS MEDICAL SUPPLIES FOR CY 2021 (RE-BID)

1. The Philippine Children's Medical Center (PCMC) through the GAA CY 2021 intends to apply the sum of Twenty Million Eighty Six Thousand Five Hundred Thirty Two Pesos & 48/100 (Php20,086,532.48) being the Approved Budget for the Contract (ABC) to payments under the following Invitation to Bid. Bids received in excess of the ABC shall be automatically rejected at bid opening.

IB NO.	ITEM DESCRIPTION	ABC	Cost of Complete Set of Bidding documents
IB 2021-018	Common Medical Supplies CY 2021	12,812,114.10	25,000.00
IB 2021-019	Pediatric Anesthesia Supplies CY 2021	401,200.00	500.00
IB 2021-020	Various Neurodiagnostic Laboratory Supplies CY 2021	1,649,590.00	5,000.00
IB 2021-021	Various Neonatal ICU Supplies CY 2021	830,242.92	500.00
IB 2021-022	Various Pulmonary Medicine Supplies CY 2021	2,226,920.00	5,000.00
IB 2021-023	Various Pediatric Surgery Supplies CY 2021	2,166,465.46	5,000.00

- 2. The Philippine Children's Medical Center (PCMC) now invites bids for the above-mentioned project. Delivery of the Goods is required within Seven (7) calendar days. Bidders should have completed, within the past two (2) years from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II. Instructions to Bidders.
- 3. Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".
  - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
- 4. Prospective Bidders may obtain further information from PCMC and inspect the Bidding Documents at the address given below during office hours.
- 5. A complete set of Bidding Documents may be acquired by interested Bidders starting November 26, 2020 upon payment of the applicable fee stated above. It may also be downloaded free of charge from the website of the Philippine Government Electronic Procurement System (PhilGEPS) and the website of PCMC, provided that Bidders shall pay the applicable fee for the Bidding Documents not later than the submission of their bids.



- 6. The Philippine Children's Medical Center will hold a Pre-Bid Conference on December 4, 2020 at 10:00 A.M. through video conferencing via google meet which shall be open to prospective bidders.
- 7. Bids must be duly received by the BAC Secretariat through manual submission on or before December 16 2020 9:30 A.M., Guard-on-Duty, 3<sup>rd</sup> Floor, Procurement Division Area, PCMC Main Building. Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in ITB Clause 14.
- 9. Bid opening shall be on **December 16, 2020, 10:00 A.M.** 3<sup>rd</sup> Floor, Function Hall, PCMC Main **Building**. Bids will be opened in the presence of the Bidders' representatives who choose to attend at the afore-mentioned venue. In compliance to social distancing and to support the government's effort to mitigate, if not contain the transmission of COVID-19, we will strictly allow only one authorized representative per bidder company to enter the venue during opening of bids. Provided further, that said authorized representative shall wear PPE and shall pass the triage areas as required prior entering PCMC Premises.
- 10. The **Philippine Children's Medical Center (PCMC)** reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 11. For further information, please refer to:

PCMC BAC Secretariat
3<sup>rd</sup> Floor, Procurement Division
PCMC Main Building
Quezon Avenue, cor. Agham Road Quezon City

Trunkline: 8588-9900 Loc 361 / 355

Fax Number: 924-0870 Email: pcmcbac@gmail.com

12. You may visit the following websites:

For downloading of Bidding Document: www.pcmc.gov.ph

www.philgeps.gov.ph

November 25, 2020

(SGD) MARIA ROSARIO S. CRUZ, MD

Chairman, Bids & Awards Committee

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 INVITATION TO BID NO. IB-2021-018 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 3 2 1 5 6 7 8 10 11 12 13 14 SALES AND COST OF UNIT PRICES TOTAL PRICE FINAL LOCAL OTHER TAXES DELIVERED UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE** AND UNIT PRICE **FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER DESTINATION EXW $(cols. 2 \times 9)$ AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** Bandage, Adhesive (Fistula 1000 pc 3.00 3,000.00 Bibs, Disposable 13 x 18 plain 2300 pc 11,500.00 5.00 (CVC/Fistula Kit) 3 BP Bulb w/ Control Valve 10 pc 62.00 620.00 BP Cuff w/ Inflation Bag 9 set 1,836.00 204.00 Adult BP Cuff w/ Inflation Bag 3 1,242.00 set 414.00 Infant 6 Cannula, Ram size 0 300 pc 350.00 105,000.00 7 Cannula, Ram size 1 87,500.00 250 350.00 pc 8 Cannula, Ram size 2 70 350.00 24,500.00 pc

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: INVITATION TO BID NO. $\overline{\textbf{IB-2021-}}$ NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 018 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 3 2 1 5 6 7 8 10 11 12 13 14 SALES AND COST OF UNIT PRICES TOTAL PRICE FINAL LOCAL OTHER TAXES DELIVERED TOTAL UNIT DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW AND UNIT PRICE ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER DESTINATION EXW $(cols. 2 \times 9)$ AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** Catheter, Foley Balloon 2-way 20 pc 25.00 500.00 Fr 05 Catheter, Foley Balloon 2-way 100 25.00 2,500.00 pc Fr 06 Catheter, Foley Balloon 2-way 11 10 pc 32.00 320.00 12 Catheter, Rubber Fr 20 50 pc 15.00 750.00 13 Catheter, Umbilical fr. 3.5 176,000.00 500 352.00 pc Catheter, Umbilical fr. 4.0 pc 5,000.00 150,000.00 double lumen 15 Catheter, Umbilical fr. 5.0 200 70,400.00 pc 352.00

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 INVITATION TO BID NO. IB-2021-018 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 2 3 1 4 5 6 7 8 9 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL OTHER TAXES LOCAL **DELIVERED** UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT ITEM DESCRIPTION MANUFACTURER **PRICE** PRICE EXW AND UNIT PRICE **FINAL** TOTAL ABC ITEM DESCRIPTION NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER EXW $(cols. 2 \times 9)$ DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** Cautery Tip, needle point, 20 9,000.00 450.00 pc reusable Chlorhexidine swabstick (CVC 1500 5.00 7,500.00 pc Kit) 18 Cleaner, Cautery Tip 5 x 5cm 10 50.00 500.00 pc 19 Cleaner, Cautery tip 2x2" 4,400.00 pc 55.00 Cleanser, Enzymatic 5L (7% 29 2,990.00 86,710.00 gal Ethylene Glycol) Closed System, Suction 250 pcs 870.00 217,500.00 Catheter fr 10

Closed System, Suction

Catheter fr 8

250

pcs

217,500.00

870.00

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF BIDDER: NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 INVITATION TO BID NO. IB-2021-018 PCMC REQUIREMENT BIDDER'S OFFER 1 2 3 4 5 6 7 8 9 10 11 12 13 14

	PCMC R	EQUII	REME	NT		BIDDER'S OFFER								
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
23	Dressing, Control Gel Formula, 8cm x 8cm sterile	80	pc	840.00	67,200.00									
24	Dressing, extra thin 4inx4in/10cmx10cm 10sbox	700	pc	350.00	245,000.00									
25	Dressing, lipidocolloid contact layer impregnated w/ Silver sulfadiazine, 10cmx12cm	40	pc	368.00	14,720.00									
26	Gauze, Adult, 4x16x38 mesh with Radiopaque lining, 100s/pk	11000	pc	15.00	165,000.00									
27	Gauze, Pedia, 23x3 Mesh with Radiopaque lining, sterile 10s/pk	20000	pc	10.00	200,000.00									
28	Gauze, Sterile, Cherries 4x4x8" 4pcs/pk (Fistula Kit)	1650	pc	3.65	6,022.50									
29	Gloves, Examination Nonsterile, Nitrile Powder free 6.0 extra-small (100s)	8700	pc	3.50	30,450.00									

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 [REBID] PCMC REQUIREMENT BIDDER'S OFFER 1 2 3 4 5 6 7 8 9 10 11 12 13 14

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
30	Gloves, Examination Nonsterile, Nitrile Powder free 6.5 small (100s)	200000	pc	3.50	700,000.00									
31	Gloves, Examination Nonsterile, Nitrile Powder free 7.0 medium (100s)	430000	pc	3.50	1,505,000.00									
32	Gloves, Examination Nonsterile, Nitrile Powder free 7.5 large (100s)	44000	pc	3.50	154,000.00									
33	Gloves, nitrile chemical resistant (Spill Kit)	4	pr	150.00	600.00									
34	Gloves, surgical powder free/ latex free 6.5	10000	pr	69.00	690,000.00									
35	Gloves, Surgical Powder-free/ latex-free 7.0	10000	pr	69.00	690,000.00									
36	Handwash, Surgical Antiseptic solution, (4% Chlorhexidine Gluconate) 5 liter	40	gal	4,200.00	168,000.00									

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 INVITATION TO BID NO. IB-2021-018 (REBID) PCMC REQUIREMENT **BIDDER'S OFFER** 2 3 1 4 5 6 7 8 9 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL OTHER TAXES LOCAL **DELIVERED** UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT ITEM DESCRIPTION MANUFACTURER **PRICE** PRICE EXW AND UNIT PRICE **FINAL** TOTAL ABC ITEM DESCRIPTION NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER EXW (cols. 2 x 9) DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT **AWARDED** SERVICES Mask, Face Anesthesia, 100 315.00 31,500.00 pc Neonate size 1 Mask, Face Anesthesia, 100 31,500.00 pc 315.00 Neonate size 3 Mask, Face Anesthesia, Pedia 60 315.00 18,900.00 pc size 4 Mask, Oxygen, Non-497 44,730.00 pc 90.00 rebreathing Adult Mask, Oxygen, Non-557 50,130.00 90.00 pc rebreathing Child Mask, Oxygen, Non-300 pc 90.00 27,000.00 rebreathing Infant

Mask, Surgical Disposable Tie-

On, 3-ply 50s/bx

28000

pc

33,600.00

1.20

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 (REBID) PCMC REQUIREMENT NAME OF BIDDER: INVITATION TO BID NO. IB-2021 018 BIDDER'S OFFER

	PCMC R	EQUI	REME	ENT			BIDDER'S OFFER								
	1	2	3	4	5	6	7	8	9	10	11	12	13	14	
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2	
44	Mat, Decontaminating, Disposible 30 polyfilms/sheet, size: 3.5 ' x 5 '	300	film	140.00	42,000.00										
45	Mortuary Body Funeral Bag (Adult)	130	pc	185.00	24,050.00										
46	Mortuary Body Funeral Bag (Pedia)	300	pc	65.00	19,500.00										
47	Needle G23 x 1-1/2, Disposable 100s	200	pc	1.15	230.00										
48	Needle, Spinal G19 x 3-1/2, Disposable	2	pc	50.00	100.00										
49	Needle, Spinal G21 x 3-1/2, Disposable	2	pc	50.00	100.00										
50	Needle, Spinal G24 x 3-1/2, Disposable	1950	pc	50.00	97,500.00										

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF BIDDER: NAME OF BIDDER: PCMC REQUIREMENT BIDDER'S OFFER 1 2 3 4 5 6 7 8 9 10 11 12 13 14

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
51	Petroleum Jelly, 500gm	11	jr	350.00	3,850.00									
52	Povidone-Iodine USP Swabsticks 25s	2200	pc	48.00	105,600.00									
53	Splint/Arm Board, Adult 2x10	30	pc	21.00	630.00									
54	Splint/Arm Board, size : preterm B	120	рс	80.00	9,600.00									
55	Suction, Rubber 90mL	32	pc	34.80	1,113.60									
56	Thermal Paper, Type II UPP 110-HD	100	rl	880.00	88,000.00									
57	Thermal Paper, Type UUP 210- HD	6	rl	3,400.00	20,400.00									

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 INVITATION TO BID NO. IB-2021-(REBID) 018 PCMC REQUIREMENT **BIDDER'S OFFER** 2 3 1 4 5 6 7 8 9 10 11 12 13 14 UNIT PRICES SALES AND COST OF TOTAL PRICE FINAL OTHER TAXES LOCAL **DELIVERED** UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT ITEM DESCRIPTION MANUFACTURER **PRICE** PRICE EXW AND UNIT PRICE **FINAL** TOTAL ABC ITEM DESCRIPTION NO. UNIT OF ORIGIN MATERIAL, ITEM IF OF OTHER EXW (cols. 2 x 9) DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT **AWARDED** SERVICES Tube, Endotracheal cuffed size 16,830.00 198.00 pc 4.0 (RAE) south oral Tube, Endotracheal cuffed size 10 1,980.00 pc 198.00 4.5 (RAE) south oral Tube, Endotracheal cuffed size 10 1,980.00 198.00 pc 5.0 (RAE) south oral Tube, Endotracheal cuffed size 10 1,980.00 pc 198.00 5.5 (RAE) south oral Tube, Endotracheal cuffed size 10 1,980.00 pc 198.00 6.0 (RAE) south oral Tube, Endotracheal uncuffed 5 pc 1,198.00 5,990.00 size 3.5 (Reinforced)

Tube, Endotracheal uncuffed

size 4.0 (RAE) south oral

10

pc

1,980.00

198.00

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 INVITATION TO BID NO. IB-2021-018 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 2 3 1 4 5 6 7 8 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL OTHER TAXES LOCAL **DELIVERED** UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT AND UNIT PRICE ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE** PRICE EXW **FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER EXW $(cols. 2 \times 9)$ DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** Tube, Endotracheal uncuffed 10 1,980.00 pc 198.00 size 4.5 (RAE) south oral Tube, Endotracheal uncuffed 5 5,990.00 pc 1,198.00 size 4.5 (Reinforced) Tube, Endotracheal uncuffed 10 198.00 1,980.00 pc

size 5.0 (RAE) south oral

68 Tube, Feeding Fr 12 Duodenal

69 Tube, Feeding Fr 14 Duodenal

70 Tube, Gusseted 03" x 100ft

71 Tube, Gusseted 10" x 100ft

800

250

20

5

pc

pc

rl

rl

6,400.00

2,000.00

6,600.00

3,000.00

8.00

8.00

330.00

600.00

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 INVITATION TO BID NO. IB-2021-018 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 3 2 1 5 6 7 8 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL LOCAL OTHER TAXES TOTAL **DELIVERED** UNIT DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW ITEM DESCRIPTION QTY UNIT PRICE EXW TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE** AND UNIT PRICE **FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER EXW $(cols. 2 \times 9)$ DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** Tube, Tracheostomy, non-cuff 14,000.00 pc 2,800.00 6.0, Pedia Tubing, Perfusor 0.9 x 1.9mm 12800 1,132,800.00 pc 88.50 150cm Tubing, Rubber 1/4 x 1/16 rl 965.00 8,685.00 50ft 75 Tubing, Rubber 1/4 x 1/8 50ft 13 rl 24,635.00 1,895.00 Tubing, Rubber 1/8 x 1/32 50 rl 838.00 41,900.00 50ft 77 B. Medical Supplies PPE 78 Booties, Disposable Long 3000 pair 300,000.00 100.00

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: INVITATION TO BID NO. $\overline{\textbf{IB-2021-}}$ NAME OF PROJECT: VARIOUS COMMON MEDICAL SUPPLIES CY 2021 (REBID) 018 PCMC REQUIREMENT **BIDDER'S OFFER** 2 3 1 5 6 7 8 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL OTHER TAXES LOCAL DELIVERED UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW OTY UNIT AND UNIT PRICE ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER PRICE PRICE EXW **FINAL** NO. UNIT OF ORIGIN MATERIAL, ITEM IF OF OTHER EXW $(cols. 2 \times 9)$ DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT AWARDED SERVICES Gloves, Examination 79 Nonsterile, Nitrile Powder free 2500 8,750.00 pc 3.50 6.5 small (100s) Gloves, Examination 80 Nonsterile, Nitrile Powder free 203300 711,550.00 3.50 7.0 medium (100s) Gloves, Examination 81 Nonsterile, Nitrile Powder free 4200 3.50 14,700.00 pc 7.5 large (100s) Gown, Surgical disposable, non-sterile, waterproof, w/ 20308 3,858,520.00 pc 190.00 zipper, w/ wrist & ankle garter, various sizes Gown, Surgical Washable, waterproof, lightweight 590 171,100.00 290.00 pc material, w/ zipper, w/ wrist & ankle garter, various sizes 12,812,114.10 TOTAL ADDITIONAL REQUIREMENTS: > Supplies to be delivered should have expiration of at least one (1) year and longer or as expressed/required by the End-user. TERMS OF PAYMENT (For discountsbeing offered, if there's any. Otherwise, state "NONE"): The price of the bided item(s) shall be valid until December 31, 2021

PRICE SCHEDULE																
PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER											NAME OF BIDDER:					
NAM	E OF PROJECT : VARIOUS	ON MED	ICAL SUP	PLIES CY 2021		INVITATION TO BID NO. ${\bf IB-2021-}$										
(RI	EBID)						018									
PCMC REQUIREMENT							BIDDER'S OFFER									
	1	2	3	4	5	6	7	8	9	10	11	12	13	14		
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2		
>	> Staggered delivery, staggered payment															
	➤ The quantities specified are estimated requirements during the period and may be decreased depending upon the actual need of PCMC. It is understood therefore that PCMC is not bound to order / purchase all the items / quantities called for on this bidding.															
>	> The supplier should submit Materials Safety Data Sheet upon initial delivery, if applicable.									NAME AND SIGNATURE OF AUTHORIZED REPRESENTATIVE						
	PCMC has the right to reject any or all bids without offering any reason, waive any required formality and award the contract to any bidder whose proposals as evaluated by PCMC is the most advantageous to the government.								BAC & END-USER'S SIGNATURE:							

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS PEDIATRIC ANESTHESIA SUPPLIES INVITATION TO BID NO. IB-2021-019 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 3 2 1 5 6 7 8 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL LOCAL OTHER TAXES DELIVERED TOTAL UNIT DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE** AND UNIT PRICE **FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER DESTINATION EXW $(cols. 2 \times 9)$ AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** 1 Anesthesia Gas Sampling Line 100 700.00 70,000.00 pc Blood Pressure Cuff Set (sz 1 2 to sz 5) reusable, Neonates and set 2,900.00 17,400.00 Infants Blood Pressure Monitoring 2 3,000.00 pc 1,500.00 cable, Adult 4 Bogie, Pedia Ventilating-Adult 2,200.00 4,400.00 pc 5 Bogie, Pedia Ventilating-Pedia 2 2,200.00 4,400.00 pc Double Lumen Tube, Fr 30, рс 8,000.00 8,000.00 Left Double Lumen Tube, Fr 32, 8,000.00 8,000.00 pc Left 8 Endobronchial blocker Fr 5.0 pc 15,000.00 30,000.00

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: INVITATION TO BID NO. $\overline{\textbf{IB-2021-}}$ NAME OF PROJECT: VARIOUS PEDIATRIC ANESTHESIA SUPPLIES 019 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 3 2 12 1 5 6 7 8 10 11 13 14 SALES AND COST OF UNIT PRICES TOTAL PRICE FINAL LOCAL OTHER TAXES DELIVERED UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW AND UNIT PRICE ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER DESTINATION EXW (cols. 2 x 9) AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ **COMPONENT** SERVICES AWARDED 9 Endobronchial blocker Fr 9.0 2 15,000.00 30,000.00 pc 10 Esophageal Stethoscope Fr 12 300.00 15,000.00 pc 11 Esophageal Stethoscope Fr 9 50 pc 300.00 15,000.00 12 Foam Child Head Positioner pc 3,500.00 7,000.00 13 Jackson Rees with 0.5L bag 112,000.00 100 pc 1,120.00 Jackson Rees, Pedia, 1 liter bag 100 pc 700.00 70,000.00 w/ valve 15 Prone Positioning Kits 7,000.00 3,500.00 set

PRICE SCHEDULE																
PROG	CURING ENTITY: PHILIPP	CHIL	DREN'S	MEDICAL			NAME OF BIDDER:									
	E OF PROJECT : VARIOUS	DIAT	RIC ANI	ESTHESIA	SUPPLIES		INVITATION		o. <b>IB-2021-</b>							
<u>(RI</u>	EBID)								019							
	PCMC R	REME	NT			BIDDER'S OFFER										
	1	2	3	4	5	6	7	8	9	10	11	12	13	14		
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2		
					401,200.00											
ADI	ADDITIONAL REQUIREMENTS:								TOTAL =							
<ul> <li>Supplies to be delivered should have expiration of at least one (1) year and longer or as expressed/required by the End-user.</li> <li>The price of the bided item(s) shall be valid until December 31, 2021</li> </ul>									TERMS OF PAYMENT (For discountsbeing offered, if there's any. Otherwise, state "NONE"):							
>	> Staggered delivery, staggered payment															
	The quantities specified are estimated requirements during the period and may be decreased depending upon the actual need of PCMC. It is understood therefore that PCMC is not bound to order / purchase all the items / quantities called for on this bidding.															
The supplier should submit Materials Safety Data Sheet upon initial delivery, if applicable.										NAME AND SIGNATURE OF AUTHORIZED REPRESENTATIVE						
PCMC has the right to reject any or all bids without offering any reason, waive any required formality and award the contract to any bidder whose proposals as evaluated by PCMC is the most advantageous to the government.									BAC & END-USER'S SIGNATURE:							

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS NEURODIAGNOSTIC LABORATORY INVITATION TO BID NO. IB-2021-**SUPPLIES CY 2021 (REBID)** 020 PCMC REQUIREMENT BIDDER'S OFFER 2 3 4 5 7 9 11 12 13 1 6 8 10 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL LOCAL OTHER TAXES ITE TOTAL DELIVERED UNIT DESTINATION M **COUNTRY** LABOR, RAW PAYABLE PER ABC PER QTY UNIT PRICE EXW AND UNIT PRICE **FINAL** ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER PRICE OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER DESTINATION EXW $(cols. 2 \times 9)$ AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ AWARDED COMPONENT SERVICES Acetone, pure, AR, 4 60 bt 1,565.00 93,900.00 liters/bottle 2 Collodion, 4L/bottle 24 bt 23,410.00 561,840.00 Eartips, Infant, INE 3.5 mm, 1 2,475.00 bx 2,475.00 10pcs/pack Eartips, Infant, INE 4.0 mm, 1 bx 2,475.00 2,475.00 10pcs/pack EEG Paste, 400grams, Z-401 5 ce, sticky and good 72 jr 136,800.00 1,900.00 conductance 6 Electrodes, Disc, Stainless 2 3,900.00 7,800.00 pc Electrodes, Disposable EMG 12 350.00 4,200.00 рc Needle, 25mm Electrodes, Disposable EMG 120 42,000.00 pc 350.00 Needle, 37mm Electrodes, Disposable EMG 12 рс 350.00 4,200.00 Needle, 50mm Electrodes, G-H-488 EEG 10 10mm, Gold Disc, 48", 24 pk 18,500.00 444,000.00

colored leads

						PRIC	E SCHI	EDUL	E					
PRO	CURING ENTITY: PHILIPP	INE (	CHIL	DREN'S	MEDICAL	L CENTER					NAME OF B	BIDDER:		
	ME OF PROJECT : VARIOUS PPLIES CY 2021 (RE			DIAGNO	OSTIC LA	BORATORY		INVITATIO	N TO BID NO <b>020</b>	o. <b>IB-2021-</b>				
	PCMC R	EQUI	REME	NT			ı	I	BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
11	Electrodes, Reusable Gold/Silver Cup, 1.5m, Digital	24	pk	9,500.00	228,000.00									
12	Electrodes, Ring	2	pk	3,850.00	7,700.00									
13	Electrodes, single patient surface, pads with gel	40	pk	2,500.00	100,000.00									
14	Electrodes, Snap Lead Wire	1	pk	3,520.00	3,520.00									
15	Skin Prepping Gel, 40z (114g)	12	tbe	890.00	10,680.00									
					1,649,590.00									
AD	DITIONAL REQUIREMENT	5:							TOTAL					
>	Supplies to be delivered should l	nave exp	iration c	of at least one	(1) year and long	er or as expressed/required	d by the End-user.		TERMS O		r discountsbe	ing offered, if the	ere's any. Otherwi	se, state
>	The price of the bided item(s) sh	all be va	lid until	December 31	, 2021				INOINE")	•				
>	Staggered delivery, staggered pa	yment							1					
>	The quantities specified are esting understood therefore that PCMC							PCMC. It is						
>	The supplier should submit Mate	erials Sa	fety Dat	a Sheet upon	initial delivery, if	applicable.			1	NAME AND S	IGNATURE OF	AUTHORIZED RE	PRESENTATIVE	
>	PCMC has the right to reject any whose proposals as evaluated by						d award the contract to	any bidder	BAC & EI	ND-USER'S SIG	NATURE:			

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: INVITATION TO BID NO. $\overline{\textbf{IB-2021-}}$ NAME OF PROJECT: VARIOUS NEONATAL ICU SUPPLIES (REBID) 021 PCMC REQUIREMENT BIDDER'S OFFER 3 2 12 1 5 6 7 8 10 11 13 14 SALES AND COST OF UNIT PRICES TOTAL PRICE FINAL LOCAL OTHER TAXES DELIVERED UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW AND UNIT PRICE ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER DESTINATION **EXW** (cols. 2 x 9) AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ **COMPONENT** SERVICES **AWARDED** Drapes, surgical drapes 240 pc 230.00 55,200.00 disposable 2 Eye sheet, dispoable 240 240.00 57,600.00 pc Feeding Cup, silicone Nifty 50 62.00 3,100.00 pc feeding cup 40ml Filter paper, for neonatal 4 pk 6,000.00 24,000.00 incubator 5 Hearing Screening Filter Cards 600 3.99 2,394.00 pc 6 PICC Set, disposable 72 рс 1,800.00 129,600.00 7 PICC-LINE Fr. 1 50 6,500.00 325,000.00 pc PICC-LINE, Fr.2, Double 12 pc 10,000.00 120,000.00 lumen

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: INVITATION TO BID NO. IB-2021-NAME OF PROJECT: VARIOUS NEONATAL ICU SUPPLIES (REBID) 021 PCMC REQUIREMENT BIDDER'S OFFER 3 2 1 5 6 7 8 10 11 12 13 14 SALES AND COST OF UNIT PRICES TOTAL PRICE FINAL LOCAL OTHER TAXES TOTAL DELIVERED UNIT DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW ITEM DESCRIPTION QTY UNIT PRICE EXW AND UNIT PRICE TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER DESTINATION **EXW** (cols. 2 x 9) AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** 9 Suture, silk 0 strands 240 54.00 12,960.00 pc Suture, silk 2-0 with needle 60 54.00 3,240.00 pc strands Tube, Feeding Fr 05 38/40 cm 500 pc 73.00 36,500.00 with calibration Tube, Feeding Fr 08 38/40 cm 500 pc 73.00 36,500.00 with calibration Tubings, Patient Circuit for 13 Infant Warmer (atom) 5 2,400.00 12,000.00 bx 5pcs/box Tubings, Patient Circuit for 14 Infant Warmer bx 4,049.64 12,148.92 (fisher&paykel) 10pcs/box 830,242.92 TOTAL ADDITIONAL REQUIREMENTS:

						PRIC	E SCHI	E D U L	E					
PROG	CURING ENTITY: PHILIPP	INE (	CHIL	DREN'S	MEDICA	L CENTER					NAME OF I	BIDDER:		
NAM	E OF PROJECT : VARIOUS	S NEC	ONA	TAL ICU	SUPPLIE	S (REBID)		INVITATION	n то віd n <b>021</b>	o. <b>IB-2021-</b>				
	PCMC I	REQUI	REME	INT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
	Supplies to be delivered should					ger or as expressed/required	d by the End-user.	1	TERMS ( "NONE")		r discountsbe	ing offered, if the	re's any. Otherwi	se, state
	The price of the bided item(s) sl	nall be va	alid unti	l December 31	, 2021									
>	Staggered delivery, staggered pa	ayment												
	The quantities specified are estinunderstood therefore that PCMO							PCMC. It is						
>	The supplier should submit Mat	erials Sa	fety Dat	ta Sheet upon	nitial delivery, if	applicable.				NAME AND S	GNATURE OF	AUTHORIZED REI	PRESENTATIVE	-
	PCMC has the right to reject an whose proposals as evaluated by	-		_	-		d award the contract to		BAC & E	ND-USER'S SIG	NATURE:			

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS PULMONARY MEDICINE SUPPLIES INVITATION TO BID NO. IB-2021-022 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 2 3 1 5 6 7 8 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL OTHER TAXES LOCAL TOTAL **DELIVERED** UNIT DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE** AND UNIT PRICE **FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER **EXW** $(cols. 2 \times 9)$ DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** 1 Air filter, Avea (5pcs/pack) 3 pk 2,000.00 6,000.00 Charger, Pulse Oximeter 504 2 12,000.00 24,000.00 pc Filter, Nebulizer Machine 20 85.00 1,700.00 pc Heavy Duty Filter, Portable Suction 4 1,500.00 6,000.00 pc Machine 5 Filter, Thoracic Pump 5 pc 2,500.00 12,500.00 6 Flow Sensor, AVEA 20 22,000.00 440,000.00 pc 7 Flow Sensor, Vela 4 45,000.00 180,000.00 pc 8 Incentive Spirometry 5 349.00 1,745.00 pc

9 IOS Mouthpiece, Sensormedics

pc

55.00

11,000.00

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS PULMONARY MEDICINE SUPPLIES INVITATION TO BID NO. IB-2021-022 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 2 3 1 4 5 6 7 8 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL LOCAL OTHER TAXES **DELIVERED** UNIT TOTAL DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE** AND UNIT PRICE **FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER **EXW** $(cols. 2 \times 9)$ DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** Oxygen Sensor for AVEA 24 29,000.00 696,000.00 pc ventilator Oxygen Sensor for VELA 16 26,000.00 416,000.00 pc ventilator 12 Palm Cups, Adult (Large) 500.00 2,000.00 pc 13 Palm Cups, Adult (Medium) 6 400.00 pc 2,400.00 14 Palm Cups, Neonatal 5 pc 210.00 1,050.00 15 Palm Cups, Pediatric 5 pc 235.00 1,175.00 16 Peak Flow, Adult/Pedia 10 685.00 6,850.00 pc PFT mouthpiece 1 x 3, 200 11.50 2,300.00 pc Disposable Sealing material for Masks, 70g 2 pc 26,000.00 52,000.00

#### PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF BIDDER: NAME OF PROJECT: VARIOUS PULMONARY MEDICINE SUPPLIES INVITATION TO BID NO. IB-2021-022 (REBID) PCMC REQUIREMENT BIDDER'S OFFER 2 3 1 4 5 6 7 8 10 11 12 13 14 COST OF UNIT PRICES SALES AND TOTAL PRICE FINAL LOCAL OTHER TAXES TOTAL **DELIVERED** UNIT DESTINATION PAYABLE PER M ABC PER **COUNTRY** LABOR, RAW QTY UNIT PRICE EXW ITEM DESCRIPTION TOTAL ABC ITEM DESCRIPTION MANUFACTURER **PRICE** AND UNIT PRICE **FINAL** NO. OF ORIGIN UNIT MATERIAL, ITEM IF OF OTHER **EXW** $(cols. 2 \times 9)$ DESTINATION AND CONTRACT IS INCIDENTAL $(col 12 + 13) \times 2$ COMPONENT SERVICES **AWARDED** 19 Silicon mask size 2 pc 21,000.00 21,000.00 20 Silicon mask size 3 21,000.00 21,000.00 pc 21 Silicon mask, size 1 21,000.00 21,000.00 pc Spare Screen Pneumotach 22 compatible w/ Baby Body 21,000.00 21,000.00 pc Plethysmograph Spare Screen Pneumotach 3 21,000.00 63,000.00 pc compatible w/ Jaeger IOS Spare Screen Pneumotach 2 21,000.00 42,000.00 pc compatible w/ Jaeger TBA T-Adaptor, Tracheostomy 30 30.00 900.00 pc 15mm-22mm

						PRIC	ESCHI	E D U L	E					
PRO	CURING ENTITY: PHILIPP	INE (	CHIL	DREN'S	MEDICAL	L CENTER					NAME OF I	BIDDER:		
	ME OF PROJECT : VARIOUS EBID)	S PU	LMO	NARY N	<u> MEDICINE</u>	SUPPLIES		INVITATIO	N TO BID N <b>022</b>	o. <b>IB-2021-</b>				
(17.	PCMC F	FOLII	DEME	NT			<u> </u>			DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
26	Tubings, Adult Breathing Circuit for Parapac P310	70	рс	1,240.00	86,800.00									
27	Ventilator neb kit w/ T-pc 1.5mm Pediatric Cirrus neb	250	рс	350.00	87,500.00									
					2,226,920.00									
AD	DITIONAL REQUIREMENT	S:							TOTAL					
<b>A</b>	Supplies to be delivered should  The price of the bided item(s) sh  Staggered delivery, staggered pa	nall be va				er or as expressed/require	d by the End-user.		TERMS C "NONE")		r discountsbe	ing offered, if the	re's any. Otherwi	se, state
	The quantities specified are esting understood therefore that PCMC	C is not b	ound to	order / purcha	ase all the items /	quantities called for on th		PCMC. It is						
	The supplier should submit Mat PCMC has the right to reject an whose proposals as evaluated by	y or all b	ids with	out offering a	ny reason, waive	any required formality and	d award the contract to	any bidder	BAC & E	NAME AND SA		'AUTHORIZED REI	PRESENTATIVE	

### 

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES		TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
1	Anterial Embolectomy Balloon Catheter Fr. 4	1	pc	6,000.00	6,000.00									
2	Bandage, Net finger 4 meters Large	10	rl	350.00	3,500.00									
3	Blade, Sterile saw Cat. No. GC 615 10s/box	10	box	2,000.00	20,000.00									
4	Canister Curasyss with filter	20	pc	2,600.00	52,000.00									
5	Cast, Plaster Synthetic 3 inch, White	30	roll	230.00	6,900.00									
6	Cast, Plaster Synthetic 4 inch, White	40	roll	285.00	11,400.00									
7	Cast, Plaster Synthetic 5 inch, White	30	roll	540.00	16,200.00									
8	Catheter, Cystometry, double lumen fr. 6	10	pc	1,050.00	10,500.00									
9	Catheter, Rectal PVC Baloon with introducer fr. 4.5	25	pc	672.00	16,800.00									

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT: VARIOUS PEDIATRIC SURGERY SUPPLIES (REBID) POMC REQUIREMENT RIDDER'S OFFER

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
10	Catheter, Thoracic Fr. 12, Sterile	10	pc	250.00	2,500.00									
11	Catheter, Thoracic Fr. 16, Sterile	10	pc	250.00	2,500.00									
12	Catheter, Thoracic Fr. 18, Sterile	10	pc	250.00	2,500.00									
13	Catheter, Thoracic Fr. 20, Sterile	20	pc	533.00	10,660.00									
14	Catheter, Thoracic Fr. 24, Sterile	10	pc	308.73	3,087.30									
15	Catheter, Thoracic Fr. 28, Sterile	5	pc	244.00	1,220.00									
16	Cord, Bipolar (universal)	10	pc	900.00	9,000.00									
17	Cover, Neuro Microscope Sterile	10	pc	2,500.00	25,000.00									
18	Dome for reusable transducer	50	pc	595.00	29,750.00									

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT: VARIOUS PEDIATRIC SURGERY SUPPLIES (REBID) PCMC REQUIREMENT NAME OF BIDDER: NAME OF BIDDER: BIDDER'S OFFER

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITI M NC		QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
19	Drain, Penrose, Latex 1/4	100	pc	135.00	13,500.00									
20	Drain, Penrose, Silicon, 10 cm	30	pc	145.00	4,350.00									
21	Drain, Penrose, Silicon, 6 cm	50	pc	145.00	7,250.00									
22	Eye Drape Blue (100 x 120 cm) with attach pouch and lid holder	40	pc	375.00	15,000.00									
23	Ground pad with cord, neonate	50	pc	350.00	17,500.00									
24	Hemostat, Oxidized regenerated cellulose, absorbable 1x1 inch 12s	12	pc	728.00	8,736.00									
25	Indicator, Strips, Steam (200 strip/pack)	40	pc	7.33	293.20									
26	Isopropanol Benzalconium Chloride (Antiseptic Spray) 250ml	150	btl	338.00	50,700.00									
27	Myringotomy Tube, Pediatric	20	pc	1,000.00	20,000.00									

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT: VARIOUS PEDIATRIC SURGERY SUPPLIES (REBID) PCMC REQUIREMENT BIDDER'S OFFER

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
28	Needle, Port acess device G20x15	10	pc	750.00	7,500.00									
29	Needle, Port acess device G20x20	10	рс	750.00	7,500.00									
30	Needle, Port acess device G20x25	10	рс	750.00	7,500.00									
31	Needle, Port acess device G22x15	10	pc	750.00	7,500.00									
32	Needle, Port acess device G22x25	10	рс	750.00	7,500.00									
33	Osteoplug	10	pc	4,000.00	40,000.00									
34	Osteoplug-C	10	pc	4,000.00	40,000.00									
35	Oxytip. Interconnect cable 3m (10 ft.)	10	pc	6,700.00	67,000.00									
	Patties, Surgical w/x-ray detectable lining 2x6/1x3 pack of 10s	400	pc	74.25	29,700.00									

### 

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
37	Port access device, implantable Fr 4.5	3	pc	21,000.00	63,000.00									
38	Port access device, implantable Fr 6.5	3	pc	18,000.00	54,000.00									
39	Port access device, implantable Fr 8.5	3	pc	18,000.00	54,000.00									
40	Pouchkins, Drainable Pouch - Infant 38mm	120	pc	320.00	38,400.00									
41	Pouchkins, Newborn Ostomy Pouch 35 x 22mm	120	pc	320.00	38,400.00									
42	Probe, pulse oximeter, disposable	100	pc	1,500.00	150,000.00									
43	Sealing cap for 11mm trocar	10	pc	4,000.00	40,000.00									
44	Sealing cap for 5.5mm trocar	10	pc	4,000.00	40,000.00									
45	Na Hyaluronate Viscoelastic 1.6% (1.5ml)	20	pc	1,950.00	39,000.00									

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT: VARIOUS PEDIATRIC SURGERY SUPPLIES (REBID) PCMC REQUIREMENT NAME OF BIDDER: INVITATION TO BID NO. IB-2021 023 BIDDER'S OFFER

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
46	Spare Flap Valve for 11mm trocar (10pcs/pack)	10	pc	900.00	9,000.00									
47	Spare Flap Valve for 5.5mm trocar (10pcs/pack)	10	pc	850.00	8,500.00									
48	Sponge, gelatin, absorbable 10x10x10, gelfoam, DENT	100	pc	58.00	5,800.00									
49	Surgical, skin marker, 4 in 1 dual ink marker	30	pc	500.00	15,000.00									
50	Suture, Catgut 0, absorbable, with round needle	24	pc	58.64	1,407.36									
51	Suture, Catgut 2/0, absorbable, with round needle	48	pc	79.13	3,798.24									
52	Suture, Catgut 3/0, absorbable, with round needle	120	pc	58.64	7,036.80									
53	Suture, Catgut 4/0, absorbable, with round needle	576	pc	57.90	33,350.40									
54	Suture, Catgut 5/0, absorbable, with round needle	120	pc	79.13	9,495.60									

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT: VARIOUS PEDIATRIC SURGERY SUPPLIES (REBID) NAME OF BIDDER: PCMC REQUIREMENT

	PCMC R	EQUII	REME	NT					BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
55	Suture, Dacron 5/0, Polybraided, non-absorbable, double-ended spatulated	12	pc	348.00	4,176.00									
56	Suture, Polyamide 2/0, monofilament, non-absorbable, 19mm - 26mm cutting	36	pc	97.22	3,499.92									
57	Suture, Polyamide 6/0, monofilament, non-absorbable, 13 mm - 19mm cutting	36	pc	111.08	3,998.88									
58	Suture, Polyglactin 5/0 spatulated 8.0 mm	24	рс	8,000.00	192,000.00									
59	Suture, Polyglactin 4/0, absorbable, round needle, 13mm RB-2 VCP434H	240	pc	375.00	90,000.00									
60	Suture, Polypropelene 2/0, non-absorbable round needle, 26mm	24	рс	161.08	3,865.92									
61	Suture, Polypropelene 5/0, non- absorbable, round needle, 13mm, 1/2 curvature double- ended	216	рс	208.33	44,999.28									
62	ended Suture, Polypropelene 6/0, non- absorbable, round needle, 13mm, 1/2 curvature, double- ended	120	рс	375.00	45,000.00									
63	Suture, Silk 0, Strands (2)	72	рс	53.17	3,828.24									

# PRICE SCHEDULE PROCURING ENTITY: PHILIPPINE CHILDREN'S MEDICAL CENTER NAME OF PROJECT :VARIOUS PEDIATRIC SURGERY SUPPLIES (REBID) INVITATION TO BID NO. IB-2021-023 PCMC REQUIREMENT BIDDER'S OFFER 1 2 3 4 5 6 7 8 9 10 11 12 13 14

	PCMC R	EQUI	REME	NT					BID	DER'S OFFER	<u>.</u>			
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
64	Suture, Silk 3/0, Strands, non-absorbable	888	рс	44.42	39,444.96									
65	Suture, Silk 4/0, Strands, non-absorbable	456	рс	43.06	19,635.36									
	Suture, Silk 5/0, Atraumatric, non-absorbable, with round needle	72	рс	149.75	10,782.00									
67	Tube, Gastrostomy Feeding Fr. 16	10	рс	6,000.00	60,000.00									
68	Tube, Gastrostomy Feeding Fr. 18	10	рс	6,000.00	60,000.00									
69	Tube, Gastrostomy Feeding Fr. 20	10	рс	6,000.00	60,000.00									
70	Tube, Gastrostomy Feeding Fr. 22	10	рс	6,000.00	60,000.00									
71	Tube, Gastrostomy Feeding Fr. 24	10	рс	6,000.00	60,000.00									
72	Tube, non-conductive connecting tube (5mm x 3.7m)	800	tube	55.75	44,600.00									

						PRIC	E SCHE	E D U L	E					
PRO	CURING ENTITY: PHILIPP	INE (	CHIL	DREN'S	MEDICAL	L CENTER					NAME OF E	SIDDER:		
	ME OF PROJECT : <b>VARIOUS</b> EBID)	PEI	DIAT	RIC SUI	RGERY SU	IPPLIES_		INVITATION	N TO BID N	o. <b>IB-2021-</b>				
	PCMC R	EQUI	REME	NT			1		BID	DER'S OFFER				
	1	2	3	4	5	6	7	8	9	10	11	12	13	14
ITE M NO.	ITEM DESCRIPTION	QTY	UNIT	ABC PER UNIT	TOTAL ABC	ITEM DESCRIPTION	MANUFACTURER	COUNTRY OF ORIGIN	UNIT PRICE EXW	COST OF LOCAL LABOR, RAW MATERIAL, AND COMPONENT	TOTAL PRICE EXW (cols. 2 x 9)	UNIT PRICES FINAL DESTINATION AND UNIT PRICE OF OTHER INCIDENTAL SERVICES	SALES AND OTHER TAXES PAYABLE PER ITEM IF CONTRACT IS AWARDED	TOTAL PRICE DELIVERED FINAL DESTINATION (col 12 + 13) x 2
73	Vessel Loops X-ray Detectable	20	pc	300.00	6,000.00									
74	Wire, gigli 5s	5	pc	680.00	3,400.00									
75	Wound Dressing kit Curasilver PUMF Large	20	pc	8,000.00	160,000.00									
					2,166,465.46									
AD	I DITIONAL REQUIREMENTS	5:	<u> </u>						TOTAL					
>	Supplies to be delivered should h	ave exp	iration o	of at least one	(1) year and long	er or as expressed/required	d by the End-user.	I .		•	r discountsbe	ing offered, if the	re's any. Otherwi	se, state
>	The price of the bided item(s) sh	all be va	ılid until	December 31	, 2021				"NONE") :	:				
>	Staggered delivery, staggered page	yment												
>	The quantities specified are estin understood therefore that PCMC							PCMC. It is						
>	The supplier should submit Mate	erials Sa	fety Dat	a Sheet upon	initial delivery, if	applicable.				NAME AND S	IGNATURE OF	AUTHORIZED RE	PRESENTATIVE	•
>	PCMC has the right to reject any whose proposals as evaluated by						d award the contract to	any bidder	BAC & E	ND-USER'S SIG	NATURE:			



## Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER

Quezon Avenue, Quezon City 1100
website: <a href="mailto:www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: <a href="mailto:officeofthedirector@pcmc.gov.ph">officeofthedirector@pcmc.gov.ph</a>
Trunkline: 588-9900 DirectLine: 924-0836 Fax No: 924-0840

### **INVITATION TO BID**

### SUPPLY AND DELIVERY OF VARIOUS MEDICAL SUPPLIES FOR CY 2021 (RE-BID)

1. The Philippine Children's Medical Center (PCMC) through the GAA CY 2021 intends to apply the sum of Twenty Million Eighty Six Thousand Five Hundred Thirty Two Pesos & 48/100 (Php20,086,532.48) being the Approved Budget for the Contract (ABC) to payments under the following Invitation to Bid. Bids received in excess of the ABC shall be automatically rejected at bid opening.

IB NO.	ITEM DESCRIPTION	ABC	Cost of Complete Set of Bidding documents
IB 2021-018	Common Medical Supplies CY 2021	12,812,114.10	25,000.00
IB 2021-019	Pediatric Anesthesia Supplies CY 2021	401,200.00	500.00
IB 2021-020	Various Neurodiagnostic Laboratory Supplies CY 2021	1,649,590.00	5,000.00
IB 2021-021	Various Neonatal ICU Supplies CY 2021	830,242.92	500.00
IB 2021-022	Various Pulmonary Medicine Supplies CY 2021	2,226,920.00	5,000.00
IB 2021-023	Various Pediatric Surgery Supplies CY 2021	2,166,465.46	5,000.00

- 2. The Philippine Children's Medical Center (PCMC) now invites bids for the above-mentioned project. Delivery of the Goods is required within Seven (7) calendar days. Bidders should have completed, within the past two (2) years from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II. Instructions to Bidders.
- 3. Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".
  - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
- 4. Prospective Bidders may obtain further information from PCMC and inspect the Bidding Documents at the address given below during office hours.
- 5. A complete set of Bidding Documents may be acquired by interested Bidders starting November 26, 2020 upon payment of the applicable fee stated above. It may also be downloaded free of charge from the website of the Philippine Government Electronic Procurement System (PhilGEPS) and the website of PCMC, provided that Bidders shall pay the applicable fee for the Bidding Documents not later than the submission of their bids.



- 6. The Philippine Children's Medical Center will hold a Pre-Bid Conference on December 4, 2020 at 10:00 A.M. through video conferencing via google meet which shall be open to prospective bidders.
- 7. Bids must be duly received by the BAC Secretariat through manual submission on or before December 16 2020 9:30 A.M., Guard-on-Duty, 3<sup>rd</sup> Floor, Procurement Division Area, PCMC Main Building. Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in ITB Clause 14.
- 9. Bid opening shall be on **December 16, 2020, 10:00 A.M.** 3<sup>rd</sup> Floor, Function Hall, PCMC Main **Building**. Bids will be opened in the presence of the Bidders' representatives who choose to attend at the afore-mentioned venue. In compliance to social distancing and to support the government's effort to mitigate, if not contain the transmission of COVID-19, we will strictly allow only one authorized representative per bidder company to enter the venue during opening of bids. Provided further, that said authorized representative shall wear PPE and shall pass the triage areas as required prior entering PCMC Premises.
- 10. The **Philippine Children's Medical Center (PCMC)** reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 11. For further information, please refer to:

PCMC BAC Secretariat
3<sup>rd</sup> Floor, Procurement Division
PCMC Main Building
Quezon Avenue, cor. Agham Road Quezon City

Trunkline: 8588-9900 Loc 361 / 355

Fax Number: 924-0870 Email: pcmcbac@gmail.com

12. You may visit the following websites:

For downloading of Bidding Document: www.pcmc.gov.ph

www.philgeps.gov.ph

November 25, 2020

(SGD) MARIA ROSARIO S. CRUZ, MD

Chairman, Bids & Awards Committee



## Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER Pids and Awards Committee

**Bids and Awards Committee** Quezon Avenue, Quezon City 1100

website: <a href="mailto:www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: <a href="mailto:bac@pcmc.gov.ph">bac@pcmc.gov.ph</a>
Trunkline: 588-9900 local 361/355 Telefax No.: 924-0870

### **SECTION II**

### Instructions to Bidders

# Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

\_\_\_\_\_

IB-2021-017 to 2021-023

### 1. Scope of Bid

The **Philippine Children's Medical Center (PCMC)** wishes to receive Bids for the following Project:

IB NO.	ITEM DESCRIPTION	ABC
IB 2021-018	Common Medical Supplies CY 2021	12,812,114.10
IB 2021-019	Pediatric Anesthesia Supplies CY 2021	401,200.00
IB 2021-020	Various Neurodiagnostic Laboratory Supplies CY 2021	1,649,590.00
IB 2021-021	Various Neonatal ICU Supplies CY 2021	830,242.92
IB 2021-022	Various Pulmonary Medicine Supplies CY 2021	2,226,920.00
IB 2021-023	Various Pediatric Surgery Supplies CY 2021	2,166,465.46

The above Procurement Projects, the details of which are described in Section VII (Technical Specifications).

### 2. Funding Information

- 2.1. The GOP through the source of funding as indicated below for CY 2021 in the amount of Twenty Million Eighty Six Thousand Five Hundred Thirty Two Pesos & 48/100 (Php20,086,532.48)
- 2.2. The source of funding is:
  - a. GOCC and GFIs, the Corporate Operating Budget.

### 3. Bidding Requirements

The Bidding for the Project shall be governed by all the provisions of RA No. 9184 and its 2016 revised IRR, including its Generic Procurement Manuals and associated policies, rules and regulations as the primary source thereof, while the herein clauses shall serve as the secondary source thereof.

Any amendments made to the IRR and other GPPB issuances shall be applicable only to the ongoing posting, advertisement, or **IB** by the BAC through the issuance of a supplemental or bid bulletin.

The Bidder, by the act of submitting its Bid, shall be deemed to have verified and accepted the general requirements of this Project, including other factors that may affect the cost, duration and execution or implementation of the contract, project, or work and examine all instructions, forms, terms, and project requirements in the Bidding Documents.

### 4. Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

### 5. Eligible Bidders

5.1. Only Bids of Bidders found to be legally, technically, and financially capable will be evaluated.

- a. Foreign ownership exceeding those allowed under the rules may participate pursuant to:
  - i. When a Treaty or International or Executive Agreement as provided in Section 4 of the RA No. 9184 and its 2016 revised IRR allow foreign bidders to participate;
  - ii. Citizens, corporations, or associations of a country, included in the list issued by the GPPB, the laws or regulations of which grant reciprocal rights or privileges to citizens, corporations, or associations of the Philippines;
  - iii. When the Goods sought to be procured are not available from local suppliers; or
  - iv. When there is a need to prevent situations that defeat competition or restrain trade.
- 5.3. Pursuant to Section 23.4.1.3 of the 2016 revised IRR of RA No.9184, the Bidder shall have an SLCC that is at least one (1) contract similar to the Project the value of which, adjusted to current prices using the PSA's CPI, must be at least equivalent to:
  - a. For the procurement of Expendable Supplies: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least twenty-five percent (25%) of the ABC of the items joined.
  - b. For procurement where the Procuring Entity has determined, after the conduct of market research, that imposition of either (a) or (b) will likely result to failure of bidding or monopoly that will defeat the purpose of public bidding: the Bidder should comply with the following requirements: [Select either failure or monopoly of bidding based on market research conducted]
    - i. Completed at least two (2) similar contracts, the aggregate amount of which should be equivalent to at least *fifty percent* (50%) in the case of non-expendable supplies and services or twenty-five percent (25%) in the case of expendable supplies of the ABC for this Project; and
    - ii. The largest of these similar contracts must be equivalent to at least half of the percentage of the ABC as required above.
- 5.4. The Bidders shall comply with the eligibility criteria under Section 23.4.1 of the 2016 IRR of RA No. 9184.

### 6. Origin of Goods

There is no restriction on the origin of goods other than those prohibited by a decision of the UN Security Council taken under Chapter VII of the Charter of the UN, subject to Domestic Preference requirements under **ITB** Clause 18.

### 7. Subcontracts

7.1. The Bidder may subcontract portions of the Project to the extent allowed by the Procuring Entity as stated herein, but in no case more than twenty percent (20%) of the Project.

The Procuring Entity has prescribed that:

a. Subcontracting is not allowed.

### 8. Pre-Bid Conference

The Philippine Children's Medical Center will hold a Pre-Bid Conference on **December 4**, 2020 at 10:00 A.M. through video conferencing via google meet which shall be open to prospective bidders, as indicated in paragraph 6 of the **IB**.

### 9. Clarification and Amendment of Bidding Documents

Prospective bidders may request for clarification on and/or interpretation of any part of the Bidding Documents. Such requests must be in writing and received by the Procuring Entity, either at its given address or through electronic mail indicated in the **IB**, at least ten (10) calendar days before the deadline set for the submission and receipt of Bids.

### 10. Documents comprising the Bid: Eligibility and Technical Components

- 10.1. The first envelope shall contain the eligibility and technical documents of the Bid as specified in **Section VIII** (Checklist of Technical and Financial Documents).
- 10.2. The Bidder's SLCC as indicated in **ITB** Clause 5.3 should have been completed within **the past two (2) years** prior to the deadline for the submission and receipt of bids.
- 10.3. If the eligibility requirements or statements, the bids, and all other documents for submission to the BAC are in foreign language other than English, it must be accompanied by a translation in English, which shall be authenticated by the appropriate Philippine foreign service establishment, post, or the equivalent office having jurisdiction over the foreign bidder's affairs in the Philippines. Similar to the required authentication above, for Contracting Parties to the Apostille Convention, only the translated documents shall be authenticated through an apostille pursuant to GPPB Resolution No. 13-2019 dated 23 May 2019. The English translation shall govern, for purposes of interpretation of the bid.

### 11. Documents comprising the Bid: Financial Component

- 11.1. The second bid envelope shall contain the financial documents for the Bid as specified in **Section VIII** (Checklist of Technical and Financial Documents).
- 11.2. If the Bidder claims preference as a Domestic Bidder or Domestic Entity, a certification issued by DTI shall be provided by the Bidder in accordance with Section 43.1.3 of the 2016 revised IRR of RA No. 9184.
- 11.3. Any bid exceeding the ABC indicated in paragraph 1 of the **IB** shall not be accepted.
- 11.4. For Foreign-funded Procurement, a ceiling may be applied to bid prices provided the conditions are met under Section 31.2 of the 2016 revised IRR of RA No. 9184.

### 12. Bid Prices

- 12.1. Prices indicated on the Price Schedule shall be entered separately in the following manner:
  - a. For Goods offered from within the Procuring Entity's country:
    - i. The price of the Goods quoted EXW (ex-works, ex-factory, exwarehouse, ex-showroom, or off-the-shelf, as applicable);
    - ii. The cost of all customs duties and sales and other taxes already paid or payable;
    - iii. The cost of transportation, insurance, and other costs incidental to delivery of the Goods to their final destination; and
    - iv. The price of other (incidental) services, if any, listed in e.
  - b. For Goods offered from abroad:
    - i. Unless otherwise stated in the **BDS**, the price of the Goods shall be quoted delivered duty paid (DDP) with the place of destination in the Philippines as specified in the **BDS**. In quoting the price, the Bidder shall be free to use transportation through carriers registered in any eligible country. Similarly, the Bidder may obtain insurance services from any eligible source country.
    - ii. The price of other (incidental) services, if any, as listed in **Section VII (Technical Specifications).**

### 13. Bid and Payment Currencies

- 13.1. For Goods that the Bidder will supply from outside the Philippines, the bid prices may be quoted in the local currency or tradeable currency accepted by the BSP at the discretion of the Bidder. However, for purposes of bid evaluation, Bids denominated in foreign currencies, shall be converted to Philippine currency based on the exchange rate as published in the BSP reference rate bulletin on the day of the bid opening.
- 13.2. Payment of the contract price shall be made in:
  - a. Philippine Pesos.

### 14. Bid Security

- 14.1. The Bidder shall submit a Bid Securing Declaration<sup>1</sup> or any form of Bid Security in the amount indicated in the **BDS**, which shall be not less than the percentage of the ABC in accordance with the schedule in the **BDS**.
- 14.2. The Bid and bid security shall be valid until *120 calendar days*. Any Bid not accompanied by an acceptable bid security shall be rejected by the Procuring Entity as non-responsive.

### 15. Sealing and Marking of Bids

Use of indelible ink <u>color blue</u> shall be used by the authorized signatory in signing the required forms. *Strictly NO using of staple wire and thick materials for tab* 

The **First** (1<sup>st</sup>) **Envelope**, shall contain the following <u>Technical Documents</u> accomplished in two (2) sets, **each set filed in a folder** 

The **Second** (2<sup>nd</sup>) **Envelope** shall contain the Financial Component accomplished in three (3) sets, **each set filed in a folder** 

### All copies should be certified as true copy

COLOR CODING OF FOLDERS/ENVELOPES			
IB NO.	NAME OF PROJECT	Color	
IB 2021-018	Common Medical Supplies CY 2021	Green	
IB 2021-019	Pediatric Anesthesia Supplies CY 2021	Yellow Gold	
IB 2021-020	Various Neurodiagnostic Laboratory Supplies CY 2021	Yellow Gold	
IB 2021-021	Various Neonatal ICU Supplies CY 2021	Yellow Gold	
IB 2021-022	Various Pulmonary Medicine Supplies CY 2021	Yellow Gold	
IB 2021-023	Various Pediatric Surgery Supplies CY 2021	Yellow Gold	

#### LABEL ON THE ENVELOPE/S:

Name of PROCURING ENTITY Name of CONTRACT TO BE BID IB Number DATE of Bid Opening Name of the Bidder Company Address of the Bidder Company

#### **IDENTIFY THE ENVELOPES:**

- as: > Technical Component Requirements (original and copy 1)
  - > Financial Component Requirement (original, copy 1, copy 2)

### 16. Deadline for Submission of Bids

16.1. The Bidders shall submit on the specified date and time and either at its physical address or through online submission as indicated in paragraph 7 of the **IB**.

### 17. Opening and Preliminary Examination of Bids

17.1. The BAC shall open the Bids in public at the time, on the date, and at the place specified in paragraph 9 of the **IB**. The Bidders' representatives who are present shall sign a register evidencing their attendance. In case videoconferencing, webcasting or other similar technologies will be used, attendance of participants shall likewise be recorded by the BAC Secretariat.

In case the Bids cannot be opened as scheduled due to justifiable reasons, the rescheduling requirements under Section 29 of the 2016 revised IRR of RA No. 9184 shall prevail.

17.2. The preliminary examination of bids shall be governed by Section 30 of the 2016 revised IRR of RA No. 9184.

### 18. Domestic Preference

18.1. The Procuring Entity will grant a margin of preference for the purpose of comparison of Bids in accordance with Section 43.1.2 of the 2016 revised IRR of RA No. 9184.

### 19. Detailed Evaluation and Comparison of Bids

- 19.1. The Procuring BAC shall immediately conduct a detailed evaluation of all Bids rated "passed," using non-discretionary pass/fail criteria. The BAC shall consider the conditions in the evaluation of Bids under Section 32.2 of the 2016 revised IRR of RA No. 9184.
- 19.2. If the Project allows partial bids, bidders may submit a proposal on any of the lots or items, and evaluation will be undertaken on a per lot or item basis, as the case maybe. In this case, the Bid Security as required by **ITB** Clause 15 shall be submitted for each lot or item separately.
- 19.3. The descriptions of the lots or items shall be indicated in **Section VII** (**Technical Specifications**), although the ABCs of these lots or items are indicated in the **BDS** for purposes of the NFCC computation pursuant to Section 23.4.2.6 of the 2016 revised IRR of RA No. 9184. The NFCC must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder.
- 19.4. The Project shall be awarded as follows:
  - Option 3 One Project having several items, which shall be awarded as separate contracts per item.
- 19.5. Except for bidders submitting a committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation, all Bids must include the NFCC computation pursuant to Section 23.4.1.4 of the 2016 revised IRR of RA No. 9184, which must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder. For bidders submitting the committed Line of Credit, it must be at least equal to ten percent (10%) of the ABCs for all the lots or items participated in by the prospective Bidder.

### 20. Post-Qualification

20.2. Within a non-extendible period of five (5) calendar days from receipt by the Bidder of the notice from the BAC that it submitted the Lowest Calculated Bid, the Bidder shall submit its latest income and business tax returns filed and paid through the BIR Electronic Filing and Payment System (eFPS) and other appropriate licenses and permits required by law and stated in the **BDS**.

### 21. Signing of the Contract

21.1. The documents required in Section 37.2 of the 2016 revised IRR of RA No. 9184 shall form part of the Contract. Additional Contract documents are indicated in the **BDS**.

CONFORME:	
Authorized Signatory Signature over printed name	_
Name of Company/Firm	



# Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER Bids and Awards Committee

Quezon Avenue, Quezon City 1100

website: <a href="www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: pcmcbac@gmail.com Trunkline: 8588-9900 local 361/355 Telefax No.: 8924-0870

### **SECTION III**

### Bid Data Sheet

# Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

IB-2021-018 to 2021-023

### **Bid Data Sheet**

ITB								
Clause 5.3	For this purpose, contracts similar to the Project shall be:							
	a. Supply and delivery of <i>Medical Supplies</i> .							
	b. completed within <i>the last two (2) years</i> prior to the deadline for the submission and receipt of bids.							
7.1	Subcontracting is not all	owed.						
12	The Bid prices for Good	ds supplied from outside of the Philippines shall be qu	uoted in Philippine Pesos.					
14.1	The bid security shall be in the form of a <b>Bid Securing Declaration</b> , or any of the following forms and amounts:							
	1. The amount of not less than <u>two percent (2%) of the ABC of the item(s) joined</u> , if bid security is <u>in cash, cashier's/manager's check, bank draft/guarantee or irrevocable letter of credit;</u>							
	or							
19.3	2. The amount of not less than <u>five percent (5%) of the ABC of the item(s) joined</u> , if bid security is in <u>Surety Bond</u> , submit also a certification issued by the Insurance Commission.							
19.3	Supply and Delivery of	the following:						
	IB NO. ITEM DESCRIPTION ABC							
	IB 2021-018	Common Medical Supplies CY 2021	12,812,114.10					
	IB 2021-019	Pediatric Anesthesia Supplies CY 2021	401,200.00					
	IB 2021-020	Various Neurodiagnostic Laboratory Supplies CY 2021	1,649,590.00					
	IB 2021-021	Various Neonatal ICU Supplies CY 2021	830,242.92					
	IB 2021-022	Various Pulmonary Medicine Supplies CY 2021	2,226,920.00					
	IB 2021-023	Various Pediatric Surgery Supplies CY 2021	2,166,465.46					
20.2	1. Latest Income a Filing (EFPS) v  2. Valid and curre  3. Manufacturer's	Bidder shall submit the following documentary require (5) calendar days from receipt of the notification than Business Tax Returns filed and paid through the levithin the last three (3) months  In Certificate of PhilGEPS Registration.  Certification or if the Bidder is not a manufacture of the manufacturer as authorized or exclusive disc.	nat contain the following: BIR Electronic rer, authenticated copy of					

Valid and current Certificate of Product Registration issued Food and Drugs Administration (FDA).
 With manufacturer and/or products certification by an independent 3rd party Certifying body (ISO 14020, 14021, 14024, 14025 or its equivalent), is preferred.
 Consumer guidelines regarding disposal of the supplies (Information about how and where the used/decommissioned products/packaging/parts can be returned for recycling and/or disposal e.g. buy-back program)
 Other appropriate licenses and permits required by law and stated in the Bidding Documents
 Failure of the Bidder declared as LCB to duly submit the requirements stated above or a finding against the veracity of such shall be ground for forfeiture of the bid security and disqualify the Bidder for award.
 Note: Requirement Nos. 3 to 6 for items JOINED must be accomplished and submitted using the Summary Sheet to be provided by PCMC.

No additional contract documents relevant to the Project

# Authorized Signatory Signature over printed name Name of Company/Firm

21.2



# Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER Bids and Awards Committee

Quezon Avenue, Quezon City 1100 website: <a href="www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: pcmcbac@gmail.com Trunkline: 8588-9900 local 361/355 Telefax No.: 8924-0870

### **SECTION IV**

## General Conditions of Contract

# Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

IB-2021-018 to 2021-023

### 1. Scope of Contract

This Contract shall include all such items, although not specifically mentioned, that can be reasonably inferred as being required for its completion as if such items were expressly mentioned herein. All the provisions of RA No. 9184 and its 2016 revised IRR, including the Generic Procurement Manual, and associated issuances, constitute the primary source for the terms and conditions of the Contract, and thus, applicable in contract implementation. Herein clauses shall serve as the secondary source for the terms and conditions of the Contract.

This is without prejudice to Sections 74.1 and 74.2 of the 2016 revised IRR of RA No. 9184 allowing the GPPB to amend the IRR, which shall be applied to all procurement activities, the advertisement, posting, or invitation of which were issued after the effectivity of the said amendment.

Additional requirements for the completion of this Contract shall be provided in the **Special Conditions of Contract (SCC).** 

### 2. Advance Payment and Terms of Payment

- 2.1. Advance payment of the contract amount is provided under Annex "D" of the revised 2016 IRR of RA No. 9184.
- 2.2. The Procuring Entity is allowed to determine the terms of payment on the partial or staggered delivery of the Goods procured, provided such partial payment shall correspond to the value of the goods delivered and accepted in accordance with prevailing accounting and auditing rules and regulations. The terms of payment are indicated in the **SCC**.

[Include the following clauses if Framework Agreement will be used:]

- 2.3. For a single-year Framework Agreement, prices charged by the Supplier for Goods delivered and/or services performed under a Call-Off shall not vary from the prices quoted by the Supplier in its bid.
- 2.4. For multi-year Framework Agreement, prices charged by the Supplier for Goods delivered and/or services performed under a Call-Off shall not vary from the prices quoted by the Supplier during conduct of Mini-Competition.

### 3. Performance Security

Within ten (10) calendar days from receipt of the Notice of Award by the Bidder from the Procuring Entity but in no case later than prior to the signing of the Contract by both parties, the successful Bidder shall furnish the performance security in any of the forms prescribed in Section 39 of the 2016 revised IRR of RA No. 9184. [Include if Framework Agreement will be used:] In the case of Framework Agreement, the Bidder may opt to furnish the performance security or a Performance Securing Declaration as defined under the Guidelines on the Use of Framework Agreement.]

### 4. Inspection and Tests

The Procuring Entity or its representative shall have the right to inspect and/or to test the Goods to confirm their conformity to the Project {[Include if Framework Agreement will be used:] or Framework Agreement} specifications at no extra cost to the Procuring Entity in accordance with the Generic Procurement Manual. In addition to tests in the SCC, Section IV (Technical Specifications) shall specify what inspections and/or tests the Procuring Entity requires, and where they are to be conducted. The Procuring Entity

shall notify the Supplier in writing, in a timely manner, of the identity of any representatives retained for these purposes.

All reasonable facilities and assistance for the inspection and testing of Goods, including access to drawings and production data, shall be provided by the Supplier to the authorized inspectors at no charge to the Procuring Entity.

### 5. Warranty

- 6.1. In order to assure that manufacturing defects shall be corrected by the Supplier, a warranty shall be required from the Supplier as provided under Section 62.1 of the 2016 revised IRR of RA No. 9184.
- 6.2. The Procuring Entity shall promptly notify the Supplier in writing of any claims arising under this warranty. Upon receipt of such notice, the Supplier shall, repair or replace the defective Goods or parts thereof without cost to the Procuring Entity, pursuant to the Generic Procurement Manual.

### 6. Liability of the Supplier

The Supplier's liability under this Contract shall be as provided by the laws of the Republic of the Philippines.

CONFORME:
Authorized Signatory Signature over printed name
Name of Company/Firm



# Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER Bids and Awards Committee

Quezon Avenue, Quezon City 1100

website: <a href="www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: pcmcbac@gmail.com Trunkline: 8588-9900 local 361/355 Telefax No.: 8924-0870

### **SECTION V**

### Special Conditions of Contract

# Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

IB-2021-018 to 2021-023

### **Special Conditions of Contract**

GCC	
Clause	
	For Goods supplied from within the Philippines:
	Upon delivery of the Goods to the Project Site, the Supplier shall notify the Procuring Entity and present the following documents to the Procuring Entity:
	(i) Original and four copies of the Supplier's invoice showing Goods' description, quantity, unit price, and total amount;
	(ii) Four copies of Material Safety Data Sheet for a specified product upon initial delivery
	Packaging –
	The Supplier shall provide such packaging of the Goods as is required to prevent their damage or deterioration during transit to their final destination, as indicated in this Contract. The packaging shall be sufficient to withstand, without limitation, rough handling during transit and exposure to extreme temperatures, salt and precipitation during transit, and open storage. Packaging case size and weights shall take into consideration, where appropriate, the remoteness of the Goods' final destination and the absence of heavy handling facilities at all points in transit
	The packaging, marking, and documentation within and outside the packages shall comply strictly with such special requirements as shall be expressly provided for in the Contract, including additional requirements, if any, specified below, and in any subsequent instructions ordered by the Procuring Entity.
	<ol> <li>The Supplier shall have an established disposal and retrieval program or take back system for their products (items with container)</li> <li>The Supplier shall submit MSDS for a specified product.</li> <li>The product label shall bear the following information:         <ul> <li>a. Product specifications and ingredients</li> <li>b. Manufacturing and Expiration Dates</li> <li>c. Precautions</li> <li>d. Instructions for proper use and disposition</li> <li>e. Hazardous items shall be properly labeled as a hazardous product (e.g. flammable cytotoxic, radioactive, poison, etc.)</li> </ul> </li> </ol>
	4. The product shall not contain halogenated plastics and PVCs.  5. The product shall be packed in suitable packaging materials which are reusable and recyclable.
	Transportation –
	Where the Supplier is required under Contract to deliver the Goods CIF, CIP, or DDP, transport of the Goods to the port of destination or such other named place of destination in the Philippines, as shall be specified in this Contract, shall be arranged and paid for by the Supplier, and the cost thereof shall be included in the Contract Price.
	Where the Supplier is required under this Contract to transport the Goods to a specified place of destination within the Philippines, defined as the Project Site, transport to such place of destination in the Philippines, including insurance and storage, as shall be specified in this Contract, shall be arranged by the Supplier, and related costs shall be included in the contract price.

	Where the Supplier is required under Contract to deliver the Goods CIF, CIP or DDP, Goods are to be transported on carriers of Philippine registry. In the event that no carrier of Philippine registry is available, Goods may be shipped by a carrier which is not of Philippine registry provided that the Supplier obtains and presents to the Procuring Entity certification to this effect from the nearest Philippine consulate to the port of dispatch. In the event that carriers of Philippine registry are available but their schedule delays the Supplier in its performance of this Contract the period from when the Goods were first ready for shipment and the actual date of shipment the period of delay will be considered force majeure.
	The Procuring Entity accepts no liability for the damage of Goods during transit other than those prescribed by INCOTERMS for DDP deliveries. In the case of Goods supplied from within the Philippines or supplied by domestic Suppliers risk and title will not be deemed to have passed to the Procuring Entity until their receipt and final acceptance at the final destination.
	Intellectual Property Rights –
	The Supplier shall indemnify the Procuring Entity against all third-party claims of infringement of patent, trademark, or industrial design rights arising from use of the Goods or any part thereof.
2.2	The terms of payment shall be on Acceptance:
	100% of the Contract Price per Delivery Order Slip shall be paid to the Supplier within 30 to 45 days or Supplier's credit term after final acceptance and submission of required documents.
3	Within ten (10) calendar days from receipt of the Notice of Award by the Bidder from the Procuring Entity but in no case later than prior to the signing of the Contract by both parties, the successful Bidder shall furnish the performance security.
4	The inspections and tests that will be conducted are:  1) Upon delivery, the Goods shall undergo preliminary physical inspection by the Inspection Team of the PROCURING ENTITY to ascertain the physical condition and acceptability of the Goods.
	2) The supplier shall promptly replace the equivalent quantity of Goods taken as samples without cost to the PROCURING ENTITY.
5	Three (3) months after acceptance by the Procuring Entity of the delivered Goods or after the Goods are consumed, whichever is earlier.
	Winning bidder has to choose the following mode (as checked) as the form of retention money required of under R.A 9184 Sec. 62.1
	<ul><li>[ ] Bank Guarantee</li><li>[ ] 5% Deduction from claims</li></ul>
	The said amount shall only be released after the lapse of the warranty period specified in Section VII Technical Specification; provided, however, that the Supplies delivered are free from patent and latent defects and all the conditions imposed under this Contract have been fully met.
CONFORM	E:
Authorized S	
Signature ove	er printed name

Name of Company/Firm
IB-2021-018 to 2021-018 Various Medical Supplies CY 2021 (Rebid) Section V. Special Conditions of Contract



## Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER

**Bids and Awards Committee** 

Quezon Avenue, Quezon City 1100 website: <a href="www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: pcmcbac@gmail.com Trunkline: 8588-9900 local 361/355 Telefax No.: 8924-0870

### **SECTION VI**

## Schedule of Requirements

# Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

\_\_\_\_\_

IB-2021-018 to 2021-023

The delivery schedule expressed as weeks/months stipulates hereafter a delivery date which is the date of delivery to the project site.

Description	Total ABC (Php)	Delivery Site	PCMC Requirement DELIVERY PERIOD
Various Medical Supplies CY 2021 (Rebid)	20,086,532.48	Materials Management Division, G/F PCMC, Quezon Avenue, cor . Agham Road Quezon City	Within seven (7) working days from receipt of DELIVERY ORDER SLIP

### **DELIVERY AND ACCEPTANCE**

- > Staggered delivery and staggered payment
- > Supplies to be delivered should have an expiration at least one (1) year and longer or as expressed/required by the end-user.
- ➤ The Supplier should submit Materials Safety Data Sheet upon initial delivery, if applicable.
- ➤ The supplier should deliver the goods called for in the Purchase Order (PO) within seven (7) working days or as stated on Delivery Period upon receipt of approved Delivery Order Slip, faxed or personally received during office hours at the Procurement Section.
- All goods delivered pursuant to the Purchase Order (PO) with Delivery Order Slip shall be subject to acceptance and inspection by the end-user as well as by the House Inspector and of the Resident Auditor or their representatives. Goods delivered not in conformity with specifications shall be rejected and the contractor held in default.

CONFORME:	
NAME OF COMPANY	ADDRESS
SIGNATURE OVER PRINTED NAME OF AUTHORIZED REPRESENTATIVE	TELEPHONE / FAX



# Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER Bids and Awards Committee

Quezon Avenue, Quezon City 1100

website: <a href="www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: pcmcbac@gmail.com Trunkline: 8588-9900 local 361/355 Telefax No.: 8924-0870

### **SECTION VII**

## Technical Specifications

# Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

\_\_\_\_\_

IB-2021-018 to 2021-023



### **Republic of the Philippines** DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER **Bids and Awards Committee**

Quezon Avenue, Quezon City 1100

website: <a href="www.pcmc.gov.ph">www.pcmc.gov.ph</a> email: pcmcbac@gmail.com Trunkline: 8588-9900 local 361/355 Telefax No.: 8924-0870

### **SECTION VIII**

## Checklist of Technical and Financial Documents

Supply and Delivery of Various Medical Supplies CY 2021 (Re-bid)

IB-2021-018 to 2021-023

### **Checklist of Technical and Financial Documents**

The Bidder shall submit the following <u>TECHNICAL COMPONENT ENVELOPE</u> (<u>ARRANGED</u>, <u>NUMBERED AND TABBED</u>) [Strictly NO using of staple wire and thick materials for tabs] as enumerated below:

#### I. TECHNICAL COMPONENT ENVELOPE

### Class "A" Documents

### **Legal Documents**

1. Valid PhilGEPS Registration Certification (Platinum Membership) and its Annex A.

<u>or</u>

2. Registration certificate from Securities and Exchange Commission (SEC), Department of Trade and Industry (DTI) for sole proprietorship, or Cooperative Development Authority (CDA) for cooperatives or its equivalent document,

#### and

3. Mayor's/Business permit issued by the city or municipality where the principal place of business of the prospective bidder is located or the equivalent document for Exclusive Economic Zones or Areas.

#### and

4. Valid Tax Clearance per Executive Order 398, series of 2005, as finally reviewed and approved by the BIR.

#### Note:

In the event the bidder opted to submit only Requirement Nos. 2 to 4 Legal Documents, the Certificate of PhilGEPS Registration (Platinum Membership) shall remain a post-qualification requirement to be submitted in accordance with Section 34.2 of the 2016 Revised IRR of RA 9184 (Pursuant to GPPB Circular 07-2017 dated 31 July 2017)

### Technical Documents

- 5. Statement of the prospective bidder of all its ongoing government and private contracts, including contracts awarded but not yet started, if any, whether similar or not similar in nature and complexity to the contract to be bid. (Use of Form No. DOBA-PCMC-SCF3b is required)
- 6. Statement of the bidder's Single Largest Completed Contract (SLCC) similar to the contract to be bid (Refer to ITB 5.3), except under conditions provided for in Sections 23.4.1.3 and 23.4.2.4 of the 2016 revised IRR of RA No. 9184, within **two (2) years** prior to bid opening (use of Form No. DOBA-PCMC-SCF3a is required).
- 7. Bid Security (**Refer to BDS Clause 14.1**)
- 8. Duly accomplished and signed Production/ Delivery Schedule using the form as provided for in Section VI
- 9. Duly accomplished and signed Technical Specification using the form as provided for in Section VII
- 10. Omnibus Sworn Statement (Use of the Form provided is required)
- 11. Certificate of Performance in letterhead of their clients indicating the contact numbers and email addresses signed by the authorized head of the Department from three (3) clients of the bidder issued within the last six (6) months prior to bid opening.

*Note:* Certification issued by PCMC – Procurement Section must be included if bidder had done business with us. Certification of which should be of same category (e.g. equipment/supplies) of project being bided.

12. Valid and current License to Operate (LTO) issued by Food and Drug Administration (FDA).

### **Financial Documents**

- 1. The prospective bidder's Audited Financial Statements, showing, among others, the prospective bidder's total current assets and liabilities, stamped "received" by the BIR or its duly accredited and authorized institutions, for the preceding calendar year which should not be earlier than two (2) years from the date of submission.
- 2. The prospective bidder's computation of the Net Financial Contracting Capacity (NFCC) that must be at least equal to the ABC to be bid (*Use of Form No. DOBA-PCMC-NFF4 is required*);

OR.

a committed Line of Credit from a Universal or Commercial Bank, in lieu of its NFCC computation, it must be at least equal to 10% of the ABC.

### Class "B" Documents

1. For Goods, valid joint venture agreement (JVA), in case the joint venture is already in existence. In the absence of a JVA, duly notarized statements from all the potential joint venture partners should be included in the bid, stating that they will enter into and abide by the provisions of the JVA in the event that the bid is successful. Failure to enter into a joint venture in the event of a contract award shall be ground for the forfeiture of the bid security. (Use of Form No. DOBA-PCMC-JVF6 is required).

Each partner of the joint venture shall submit their legal eligibility documents or Certificate of PhilGEPS Registration (Platinum Membership). The submission of technical and financial eligibility documents by any of the joint venture partners shall constitute compliance: Provided, That the partner responsible to submit the NFCC shall likewise submit the Statement of all its ongoing contracts and Audited Financial Statements.

The Bidder shall submit the following **FINANCIAL COMPONENT ENVELOPE** (**ARRANGED**, **NUMBERED AND TABBED**) [Strictly NO using of staple wire and thick materials for tabs] as enumerated below:

### II. FINANCIAL COMPONENT ENVELOPE

- 1. Duly accomplished and signed Bid Form
- 2. Duly accomplished and signed **Price Schedule** using the form provided.

Note: Bidder shall return back to PCMC the issued USB Flash Drive containing the soft copy of their accomplished Price Schedule (in excel format).

- 3. Section II. Instructions to Bidders with signature (conforme) on all pages.
- 4. Section III. Bid Data Sheet with signature (conforme) on all pages.
- 5. Section IV. General Conditions of the Contract with signature (conforme) on all pages.
- 6. Section V. Special Conditions of the Contract with signature (conforme) on all pages.
- 7. Certification for Assurance of Stocks Availability [use of Form No. **DOBA–PCMC–CAF10** is required]
- 8. Return Policy [use of Form No. **DOBA PCMC CRF34** is required]

CONFORME:			
Authorized Signatory Signature over printed name	_		
Name of Company/Firm			